Garland Independent School District

GISD Sourcing Bid Tab Report

Bid#:	32162	Title: 10-20 Dry
		and Staple Foods

	W 1 (0 "		D'
	Vendor / Supplier *APPLE AND EVE	EPCNT No	Discount 0%
			- , ,
	BADIA SPICE CO	No	N/A
	*BARILLA AMERICA INC	Yes	0%
571780	BASIC AMERICAN INC	No	We don't
			have a
			percentage
		.,	discount
	BRAUN BEEF CO INC	Yes	n/a
	*BUSH BROTHERS & COMPANY	Yes	0
569775	BYRNE BROS FOODS INC	No	0%
569786	*C H GUENTHER & SON INC	Yes	100 cases
			total
			combined
	*CALFED FINANCIAL CORPORATION	Yes	0
568755	*CEBEV LLC	Yes	2%
	*CHURCHFIELD TRADING COMPANY	No	No
568765	CONAGRA FOODS INCORPORATED	No	N/A
571775	CUSTOM CULINARY INCORPORATED	No	N/A
569763	DIAMOND CRYSTAL BRANDS INC	NO	CUSTOM
			BY
			PRODUCT
			LISTED IN
			BID
			DOCUMEN
		.,	T
571781	*ES FOODS	Yes	5%
			discount
			from catalog/pric
			٠.
567740	*GENERAL MILLS SALES INC	No	e list only 2% if in GM
301140	CENTERNAL MILEO GALLO MO	140	bank by day
			15
570780	*GOOD SOURCE SOLUTIONS	yes	
		delivery	
		to central	/
		warehous	n/a
		е	
569773	*HARVEST HILL BEVERAGE COMPANY	Yes	0
568726	INDIAN HARVEST SPECIALTIFOODS INC	ves	3 case
568726 570770	INDIAN HARVEST SPECIALTIFOODS INC KENS FOODS INC		3 case N/A
568726 570770 571773 569772	INDIAN HARVEST SPECIALTIFOODS INC KENS FOODS INC *LASCO FOODS *MCLANE EXPRESS INCORPORATED	ves No	3 case
568726 570770 571773 569772 570772	INDIAN HARVEST SPECIALTIFOODS INC KENS FOODS INC *LASCO FOODS *MCLANE EXPRESS INCORPORATED *MATIONAL FOOD GROUP INC	ves No Yes NO no	3 case N/A 0 11% na
568726 570770 571773 569772 570772 569756	INDIAN HARVEST SPECIALTIFOODS INC KENS FOODS INC *LASCO FOODS *MCLANE EXPRESS INCORPORATED *NATIONAL FOOD GROUP INC NESTLE WATERS NORTH AMERICA	ves No Yes NO no No	3 case N/A 0 11%
568726 570770 571773 569772 570772 569756	INDIAN HARVEST SPECIALTIFOODS INC KENS FOODS INC *LASCO FOODS *MCLANE EXPRESS INCORPORATED *MATIONAL FOOD GROUP INC	ves No Yes NO no	3 case N/A 0 11% na 0 NO
568726 570770 571773 569772 570772 569756	INDIAN HARVEST SPECIALTIFOODS INC KENS FOODS INC *LASCO FOODS *MCLANE EXPRESS INCORPORATED *NATIONAL FOOD GROUP INC NESTLE WATERS NORTH AMERICA	ves No Yes NO no No	3 case N/A 0 11% na 0
568726 570770 571773 569772 570772 569756	INDIAN HARVEST SPECIALTIFOODS INC KENS FOODS INC *LASCO FOODS *MCLANE EXPRESS INCORPORATED *NATIONAL FOOD GROUP INC NESTLE WATERS NORTH AMERICA	ves No Yes NO no No	3 case N/A 0 11% na 0 NO
568726 570770 571773 569772 570772 569756	INDIAN HARVEST SPECIALTIFOODS INC KENS FOODS INC *LASCO FOODS *MCLANE EXPRESS INCORPORATED *NATIONAL FOOD GROUP INC NESTLE WATERS NORTH AMERICA	ves No Yes NO no No	3 case N/A 0 11% na 0 NO DISCOUNT PERCENTA GE
568726 570770 571773 569772 570772 569756	INDIAN HARVEST SPECIALTIFOODS INC KENS FOODS INC *LASCO FOODS *MCLANE EXPRESS INCORPORATED *NATIONAL FOOD GROUP INC NESTLE WATERS NORTH AMERICA	ves No Yes NO no No	3 case N/A 0 11% na 0 NO DISCOUNT PERCENTA
568726 570770 571773 569772 570772 569756 571765	INDIAN HARVEST SPECIALTIFOODS INC KENS FOODS INC *LASCO FOODS *MCLANE EXPRESS INCORPORATED *NATIONAL FOOD GROUP INC NESTLE WATERS NORTH AMERICA	ves No Yes NO no No	3 case N/A 0 11% na 0 NO DISCOUNT PERCENTA GE
568726 570770 571773 569772 570772 569756 571765	INDIAN HARVEST SPECIALTIFOODS INC KENS FOODS INC *LASCO FOODS *MCLANE EXPRESS INCORPORATED *MATIONAL FOOD GROUP INC NESTLE WATERS NORTH AMERICA NU HEALTH FOODS LLC	ves No Yes NO no No YES	3 case N/A 0 11% na 0 NO DISCOUNT PERCENTA GE AVAILABLE
568726 570770 571773 569772 570772 569756 571765	INDIAN HARVEST SPECIALTIFOODS INC KENS FOODS INC *LASCO FOODS *MCLANE EXPRESS INCORPORATED *MATIONAL FOOD GROUP INC NESTLE WATERS NORTH AMERICA NU HEALTH FOODS LLC	ves No Yes NO no No YES	3 case N/A 0 11% na 0 NO DISCOUNT PERCENTA GE AVAILABLE There is a
568726 570770 571773 569772 570772 569756 571765	INDIAN HARVEST SPECIALTIFOODS INC KENS FOODS INC *LASCO FOODS *MCLANE EXPRESS INCORPORATED *MATIONAL FOOD GROUP INC NESTLE WATERS NORTH AMERICA NU HEALTH FOODS LLC	ves No Yes NO no No YES	3 case N/A 0 11% na 0 NO DISCOUNT PERCENTA GE AVAILABLE There is a 10%
568726 570770 571773 569772 570772 569756 571765	INDIAN HARVEST SPECIALTIFOODS INC KENS FOODS INC *LASCO FOODS *MCLANE EXPRESS INCORPORATED *MATIONAL FOOD GROUP INC NESTLE WATERS NORTH AMERICA NU HEALTH FOODS LLC	ves No Yes NO no No YES	3 case N/A 0 11% na 0 NO DISCOUNT PERCENTA GE AVAILABLE There is a 10% discount
568726 570770 571773 569772 570772 569756 571765	INDIAN HARVEST SPECIALTIFOODS INC KENS FOODS INC *LASCO FOODS *MCLANE EXPRESS INCORPORATED *MATIONAL FOOD GROUP INC NESTLE WATERS NORTH AMERICA NU HEALTH FOODS LLC	ves No Yes NO no No YES	3 case N/A 0 11% na 0 NO DISCOUNT PERCENTA GE AVAILABLE There is a 10% discount being
568726 570770 571773 569772 570772 569756 571765	INDIAN HARVEST SPECIALTIFOODS INC KENS FOODS INC *LASCO FOODS *MCLANE EXPRESS INCORPORATED *MATIONAL FOOD GROUP INC NESTLE WATERS NORTH AMERICA NU HEALTH FOODS LLC	ves No Yes NO no No YES	3 case N/A 0 11% na 0 NO DISCOUNT PERCENTA GE AVAILABLE There is a 10% discount being offered for the Par-Way Tryson
568726 570770 571773 569772 570772 569756 571765	INDIAN HARVEST SPECIALTIFOODS INC KENS FOODS INC *LASCO FOODS *MCLANE EXPRESS INCORPORATED *MATIONAL FOOD GROUP INC NESTLE WATERS NORTH AMERICA NU HEALTH FOODS LLC	ves No Yes NO no No YES	3 case N/A 0 11% na 0 NO DISCOUNT PERCENTA GE AVAILABLE There is a 10% discount being offered for the Par-Way
568726 570770 571773 569772 570772 569756 571765	INDIAN HARVEST SPECIALTIFOODS INC KENS FOODS INC *LASCO FOODS *MCLANE EXPRESS INCORPORATED *MATIONAL FOOD GROUP INC NESTLE WATERS NORTH AMERICA NU HEALTH FOODS LLC	ves No Yes NO no No YES	3 case N/A 0 11% na 0 NO DISCOUNT PERCENTA GE AVAILABLE There is a 10% discount being offered for the Par-Way Tryson Company products
568726 570770 571773 569772 570772 569756 571765	INDIAN HARVEST SPECIALTIFOODS INC KENS FOODS INC *LASCO FOODS *MCLANE EXPRESS INCORPORATED *MATIONAL FOOD GROUP INC NESTLE WATERS NORTH AMERICA NU HEALTH FOODS LLC	ves No Yes NO no No YES	3 case N/A 0 11% na 0 0 NO DISCOUNT PERCENTA GE AVAILABLE There is a 10% discount being offered for the Par-Way Tryson Company
568726 570770 571773 569772 570772 569756 571765	INDIAN HARVEST SPECIALTIFOODS INC KENS FOODS INC *LASCO FOODS *MCLANE EXPRESS INCORPORATED *MATIONAL FOOD GROUP INC NESTLE WATERS NORTH AMERICA NU HEALTH FOODS LLC	ves No Yes NO no No YES	3 case N/A 0 11% na 0 11% na 0 NO DISCOUNT PERCENTA GE AVAILABLE There is a 10% discount being offered for the Par-Way Tryson Company products and pricing as
568726 570770 571773 569772 570772 569756 571765	INDIAN HARVEST SPECIALTIFOODS INC KENS FOODS INC *LASCO FOODS *MCLANE EXPRESS INCORPORATED *MATIONAL FOOD GROUP INC NESTLE WATERS NORTH AMERICA NU HEALTH FOODS LLC	ves No Yes NO no No YES	3 case N/A 0 11% na 0 11% na 0 NO DISCOUNT PERCENTA GE AVAILABLE There is a 10% discount being offered for the Par-Way Tryson Company products and pricing as published
568726 570770 571773 569772 570772 569756 571765	INDIAN HARVEST SPECIALTIFOODS INC KENS FOODS INC *LASCO FOODS *MCLANE EXPRESS INCORPORATED *MATIONAL FOOD GROUP INC NESTLE WATERS NORTH AMERICA NU HEALTH FOODS LLC	ves No Yes NO no No YES	3 case N/A (10 to 10 to
568726 570770 571773 569772 570772 569756 571765	INDIAN HARVEST SPECIALTIFOODS INC KENS FOODS INC *LASCO FOODS *MCLANE EXPRESS INCORPORATED *MATIONAL FOOD GROUP INC NESTLE WATERS NORTH AMERICA NU HEALTH FOODS LLC	ves No Yes NO no No YES	3 case N/A 0 11% na 0 11% na 0 NO DISCOUNT PERCENTA GE AVAILABLE There is a 10% discount being offered for the Par-Way Tryson Company products and pricing as published
568726 570770 571773 569772 570772 569756 571765	INDIAN HARVEST SPECIALTIFOODS INC KENS FOODS INC *LASCO FOODS *MCLANE EXPRESS INCORPORATED *MATIONAL FOOD GROUP INC NESTLE WATERS NORTH AMERICA NU HEALTH FOODS LLC	ves No Yes NO no No YES	3 case N/A 0 11% na 0 11% na 0 NO DISCOUNT PERCENTA GE AVAILABLE There is a 10% discount being offered for the Par-Wson Company products and pricing as published on its current price list,
568726 570770 571773 569772 570772 569756 571765	INDIAN HARVEST SPECIALTIFOODS INC KENS FOODS INC *LASCO FOODS *MCLANE EXPRESS INCORPORATED *MATIONAL FOOD GROUP INC NESTLE WATERS NORTH AMERICA NU HEALTH FOODS LLC	ves No Yes NO no No YES	3 case N/A 0 11% NO 11% NO DISCOUNT PERCENTA GE AVAILABLE There is a 10% discount being offered for the Par-Way Tryson Company products and pricing as published on its current pricine list, which is
568726 570770 571773 569772 570772 569756 571765	INDIAN HARVEST SPECIALTIFOODS INC KENS FOODS INC *LASCO FOODS *MCLANE EXPRESS INCORPORATED *MATIONAL FOOD GROUP INC NESTLE WATERS NORTH AMERICA NU HEALTH FOODS LLC	ves No Yes NO no No YES	3 case N/A 0 11% NO DISCOUNT PERCENTA GE AVAILABLE There is a 10% discount being offered for the Par-Way Tryson Company products and pricing as published on its current price list, with the process of the current price list, with the current price list is effective as
568726 570770 571773 569772 570772 569756 571765	INDIAN HARVEST SPECIALTIFOODS INC KENS FOODS INC *LASCO FOODS *MCLANE EXPRESS INCORPORATED *MATIONAL FOOD GROUP INC NESTLE WATERS NORTH AMERICA NU HEALTH FOODS LLC	ves No Yes NO no No YES	3 case N/A 0 11% na 0 NO DISCOUNT PERCENTA GE AVAILABLE There is a 10% discount being offered for the Par-Way Tryson Company products and pricing as published on its current price list, which is effective as of
568726 570770 571773 569772 570772 569756 571765	INDIAN HARVEST SPECIALTIFOODS INC KENS FOODS INC *LASCO FOODS *MCLANE EXPRESS INCORPORATED *MATIONAL FOOD GROUP INC NESTLE WATERS NORTH AMERICA NU HEALTH FOODS LLC	ves No Yes NO no No YES	3 case N/A 0 11% NO DISCOUNT PERCENTA GE AVAILABLE There is a 10% discount being offered for the Par-Way Tryson Company products and pricing as published on its current price list, which is is effective as of November
568726 570770 571773 569772 570772 569756 571765	INDIAN HARVEST SPECIALTIFOODS INC KENS FOODS INC *LASCO FOODS *MCLANE EXPRESS INCORPORATED *NATIONAL FOOD GROUP INC NESTLE WATERS NORTH AMERICA NU HEALTH FOODS LLC PARWAY TRYSON	ves No Yes NO no No YES	3 case N/A 0 11% NO DISCOUNT PERCENTA GE AVAILABLE There is a 10% discount being offered for Company products and pricing as published on its current price list, which is effective as of November 1, 2018.
568726 570770 571773 569772 569756 571765	INDIAN HARVEST SPECIALTIFOODS INC KENS FOODS INC *LASCO FOODS *MCLANE EXPRESS INCORPORATED *MATIONAL FOOD GROUP INC NESTLE WATERS NORTH AMERICA NU HEALTH FOODS LLC PARWAY TRYSON *PRAIRIE MILLS BAKING COMPANY LLC	ves No Yes NO no No YES	3 case N/A 0 11% NO DISCOUNT PERCENTA GE AVAILABLE There is a 10% discount being offered for the Par-Way Tryson Company products and pricing as published on its current price list, which is effective as of November 1, 2018. 0
568726 570770 571773 569772 570772 569756 571765	INDIAN HARVEST SPECIALTIFOODS INC KENS FOODS INC *LASCO FOODS *MCLANE EXPRESS INCORPORATED *NATIONAL FOOD GROUP INC NESTLE WATERS NORTH AMERICA NU HEALTH FOODS LLC PARWAY TRYSON	ves No Yes NO no No YES	3 case N/A 0 11% NO DISCOUNT PERCENTA GE AVAILABLE There is a 10% discount being offered for Company products and pricing as published on its current price list, which is effective as of November 1, 2018.
568726 570770 571773 569772 569756 571765 571760	INDIAN HARVEST SPECIALTIFOODS INC KENS FOODS INC *LASCO FOODS *MCLANE EXPRESS INCORPORATED *NATIONAL FOOD GROUP INC NESTLE WATERS NORTH AMERICA NU HEALTH FOODS LLC PARWAY TRYSON *PRAIRIE MILLS BAKING COMPANY LLC ROBBINS SALES COMPANY INC.	ves No Yes NO No YES Yes NO Yes	3 case N/A 0 11% NO 11% NO DISCOUNT PERCENTA GE AVAILABLE There is a 10% discount being offered for the Par-Way Tryson Company products and pricing as published on its current price list, which is which is which is which is a feetive as of November 1, 2018. 0 0
568726 570770 571773 569772 570772 569756 571765 571760	INDIAN HARVEST SPECIALTIFOODS INC KENS FOODS INC *LASCO FOODS *MCLANE EXPRESS INCORPORATED *MATIONAL FOOD GROUP INC NESTLE WATERS NORTH AMERICA NU HEALTH FOODS LLC PARWAY TRYSON *PRAIRIE MILLS BAKING COMPANY LLC ROBBINS SALES COMPANY. INC. SCHREIBER FOODS INTERNATIONAL INC	ves No Yes NO No No YES Yes	3 case N/A o 0 11% na 0 0 11% na 0 NO DISCOUNT PERCENTA GE AVAILABLE There is a 10% discount being offered for the Par-Way Tryson Company products and pricing as published on its current price list, which is effective as of November 1, 2018. 0 0 No N/A 0%
568726 570770 571773 569772 570772 569756 571765 571760	INDIAN HARVEST SPECIALTIFOODS INC KENS FOODS INC *LASCO FOODS *MCLANE EXPRESS INCORPORATED *MATIONAL FOOD GROUP INC NESTLE WATERS NORTH AMERICA NU HEALTH FOODS LLC PARWAY TRYSON *PRAIRIE MILLS BAKING COMPANY LLC ROBBINS SALES COMPANY INC. SCHREIBER FOODS INTERNATIONAL INC *SCHREIBER FOODS INTERNATIONAL INC *SCHREIBER FOODS SERVICE	ves No Yes NO No YES Yes NO Yes	3 case N/A 0 11% NO 11% NO DISCOUNT PERCENTA GE AVAILABLE There is a 10% discount being offered for the Par-Way Tryson Company products and pricing as published on its current price list, which is effective as of November 1, 2018. 0 0 November 1, 2018. 0 0 No N/A
568726 570770 571773 569772 570772 569756 571765 571760	INDIAN HARVEST SPECIALTIFOODS INC KENS FOODS INC *LASCO FOODS *MCLANE EXPRESS INCORPORATED *NATIONAL FOOD GROUP INC NESTLE WATERS NORTH AMERICA NU HEALTH FOODS LLC PARWAY TRYSON *PRAIRIE MILLS BAKING COMPANY LLC ROBBINS SALES COMPANY INC. SCHREIBER FOODS INTERNATIONAL INC *SCHWANS FOOD SERVICE SIMCO SALES INCORPORATED	ves No Yes NO No YES Yes	3 case N/A o 11% o
568726 570770 571773 569772 570772 569756 571765 571760 571760	INDIAN HARVEST SPECIALTIFOODS INC KENS FOODS INC *LASCO FOODS *MCLANE EXPRESS INCORPORATED *NATIONAL FOOD GROUP INC NESTLE WATERS NORTH AMERICA NU HEALTH FOODS LLC PARWAY TRYSON *PRAIRIE MILLS BAKING COMPANY LLC ROBBINS SALES COMPANY. INC. SCHREIBER FOODS INTERNATIONAL INC *SCHWANS FOOD SERVICE SIMCO SALES INCORPORATED *STERLING BV INC	Yes NO No YES Yes Yes Yes Yes Yes Yes Yes	3 case N/A 0 11% NO DISCOUNT PERCENTA GE AVAILABLE There is a 10% discount being offered for the Par-Way Tryson Company products and pricing as published on its current price list, which is effective as of November 1, 2018. 0 No N/A 0% 300 cases delivery minimum
568726 570770 571773 569772 570772 569756 571765 571760 571755 571758 571768 571768 571768 571768 571786 571786	INDIAN HARVEST SPECIALTIFOODS INC KENS FOODS INC *LASCO FOODS *MCLANE EXPRESS INCORPORATED *MATIONAL FOOD GROUP INC NESTLE WATERS NORTH AMERICA NU HEALTH FOODS LLC PARWAY TRYSON *PPAIRIE MILLS BAKING COMPANY LLC ROBBINS SALES COMPANY. INC. SCHREIBER FOODS INTERNATIONAL INC *SCHWANS FOOD SERVICE SIMCO SALES INCORPORATED *STERLING BV INC SUGAR FOODS CORPORATION	ves No Yes No No YES Yes Yes	3 case N/A 0 11% NO DISCOUNT PERCENTA GE AVAILABLE There is a 10% discount being offered for the Par-Way Tryson Company products and pricing as published on its current price list, which is effective as of November 1, 2018. 0 November 1, 2018. 0 November 3 O'% 300 cases delivery minimum N/A
568726 570770 571773 569772 570772 569756 571765 571760 571755 571758 571758 569776 571786 570758	INDIAN HARVEST SPECIALTIFOODS INC KENS FOODS INC *LASCO FOODS *MCLANE EXPRESS INCORPORATED *NATIONAL FOOD GROUP INC NESTLE WATERS NORTH AMERICA NU HEALTH FOODS LLC PARWAY TRYSON *PRAIRIE MILLS BAKING COMPANY LLC ROBBINS SALES COMPANY. INC. SCHREIBER FOODS INTERNATIONAL INC *SCHWANS FOOD SERVICE SIMCO SALES INCORPORATED *STERLING BV INC	Yes NO No YES Yes Yes Yes Yes Yes Yes Yes	3 case N/A 0 11% NO DISCOUNT PERCENTA GE AVAILABLE There is a 10% discount being offered for the Par-Way Tryson Company products and pricing as published on its current price list, which is effective as of November 1, 2018. 0 No N/A 0% 300 cases delivery minimum

9PS - Failed to privide product sample 4NS-Not to Specifications 4BV - Best Overall Value 3TQ - Taste Quality of product unacceptable

1NL - Not low whenunit price is calculated

*Confidential

					*Confidential			
		Award	Reason		_			Extended
Line#	Item Description	(Y / N)	Code	UOM	Supplier	Qty	Price	Price
1	APPLE SAUCE, CHUNKY, FANCY, LOW SUGAR OR UNSWEETENED	Υ		CS	ROBBINS SALES COMPANY, INC.	500	\$18.50	\$9,250.00
_ '	UNSWEETENED	Y		US.	ROBBINS SALES COMPANY, INC.	500	\$10.00	\$9,250.00
				cs	*CHURCHFIELD TRADING COMPANY	500		
	BARBECUE SAUCE, HICKORY SMOKED, LOW							
2	SODIUM, 4/1 GAL	Υ		_	BRAUN BEEF CO INC	200	\$24.78	\$4,956.00
				CS	KENS FOODS INC	200	\$25.80	\$5,160.00
					*CALEED FINANCIAL CORROBATION	000		
				CS	*CALFED FINANCIAL CORPORATION	200		
				cs	BYRNE BROS FOODS INC	200	\$45.92	\$9,184.00
							*	40,100.00
3	BEANS, PINTO, GRADE A		3TQ	cs	*CHURCHFIELD TRADING COMPANY	550		
			9PS		BYRNE BROS FOODS INC	550	\$19.50	\$10,725.00
		Υ	4BV	CS	*BUSH BROTHERS & COMPANY	550		
				cs	CONACRA FOODS INCORRORATED	550	\$20.64	\$16 02F FA
\vdash		L		US	CONAGRA FOODS INCORPORATED	550	\$30.61	\$16,835.50
	BEANS, REFRIED, SMOOTH WITH WHOLE BEANS,							
	VEGETARIAN, LOW SODIUM, NOT TO CONTAIN							
	MORE THAN 200mg PER 1/2 CUP SERVING	Υ		cs	BASIC AMERICAN INC	1200	\$19.05	\$22,860.00
					BYRNE BROS FOODS INC	1200	\$20.82	\$24,984.00
	CANNED JUICE SPARKLING, APPLE OR SIMILAR							
5	FLAVORS, 100% JUICE, 24/12oz CANS		3TQ		*CEBEV LLC	850		
		Υ	4BV	cs	*APPLE AND EVE	850		
				cs	*MCLANE EXPRESS INCORPORATED	850		
					BRAUN BEEF CO INC	850	\$11.33	\$9,630.50
	CANNED JUICE SPARKLING, KIWI BERRY OR			T -			, , , , , ,	,
	SIMILAR FLAVOR, 100% JUICE, 24/12oz CANS		3TQ		*CEBEV LLC	1000		
		Υ	4BV	cs	*APPLE AND EVE	1000		
				cs	*MCLANE EXPRESS INCORPORATED	1000		
					BRAUN BEEF CO INC	1000	\$11.33	\$11,330.00
	CANNED JUICE SPARKLING, WATERMELON						,	, ,
	STRAWBERRY OR SIMILAR FLAVORS, 100% JUICE,							
7	24/12oz CANS		3TQ		*CEBEV LLC	1000		
		Υ	4BV	cs	*APPLE AND EVE	1000		
				cs	*MCLANE EXPRESS INCORPORATED	1000		
					BRAUN BEEF CO INC	1000	\$11.33	\$11,330.00
	CANNED JUICE SPARKLING, TROPICAL							-
	PINEAPPLE OR SIMILAR FLAVOR, 100% JUICE							
8	24/12oz CANS		3TQ		*CEBEV LLC	850		
		Υ	4BV	cs	*APPLE AND EVE	850		
				cs	*MCLANE EXPRESS INCORPORATED	850		
					BRAUN BEEF CO INC	850	\$11.33	\$9,630.50
			•	•	•			

Line#	Item Description	Award (Y / N)	Reason Code	иом	Supplier	Qty	Price	Extended Price
Lillow	Rem Description	(1714)	Code	ООМ	Supplier	aty	THE	Title
	CEREAL, SWEETENED, CHOCOLATE COCOA FLAVOR, BOWL PACK, 96 CT, 25% LESS SUGAR							
	PREFERRED, NO MORE THAN 8 GRAMS SUGAR PER BOWL, PRIMARY INGREDIENT MUST BE							
9	WHOLE GRAIN CORN	Y		cs	BRAUN BEEF CO INC	2800	\$16.79	\$47,012.00
				CC	*CENEDAL MILLS SALES INC	2000		
	CEREAL, SWEETENED, CINNAMON TOAST			US.	*GENERAL MILLS SALES INC	2800		
	FLAVOR, BOWL PACK, 96 CT, 25% LESS SUGAR PREFERRED, NO MORE THAN 6 GRAMS SUGAR							
10	PER BOWL, PRIMARY INGREDIENT MUST BE WHOLE GRAIN WHEAT	Υ		cs	BRAUN BEEF CO INC	2000	\$16.79	\$33,580.00
				cs	*GENERAL MILLS SALES INC	2000		
	CEDEAL CWEETENED EDOCTED EL MESO			cs	*MCLANE EXPRESS INCORPORATED	2000		
	CEREAL, SWEETENED, FROSTED FLAKES FLAVOR, BOWL PACK, NO MORE THAN 8 GRAMS SUGAR PER BOWL, PRIMARY INGREDIENT MUST							
11	BE WHOLE GRAIN CORN	Υ		cs	BRAUN BEEF CO INC	1200	\$16.79	\$20,148.00
				cs	*GENERAL MILLS SALES INC	1200		
	CEREAL, SWEETENED, FRUIT FLAVOR RINGS,			CS	*MCLANE EXPRESS INCORPORATED	1200		
	BOWL PACK, PRIMARY INGREDIENT MUST BE WHOLE GRAIN OATS, GLUTEN FREE, NO							
12	ARTIFICIAL FLAVORS OR COLORS	Y		cs	BRAUN BEEF CO INC	1000	\$16.79	\$16,790.00
				CC	*CENEDAL MILLO CALECINO	1000		
				cs	*GENERAL MILLS SALES INC *MCLANE EXPRESS INCORPORATED	1000		
	CEREAL, SWEETENED, HONEY GRAHAM FLAVOR,					1000		
	BOWL PACK, LOW SUGAR PREFERED, PRIMARY INGREDIENT MUST BE WHOLE GRAIN WHEAT, NO							
13	ARTIFICIAL FLAVORS OR COLORS, NO HIGH FRUCTOSE CORN SYRUP	Υ		cs	BRAUN BEEF CO INC	1000	\$16.79	\$16,790.00
				cs	*GENERAL MILLS SALES INC	1000		
	CEREAL, SWEETENED, MARSHMALLOW FLAVOR,			CS	*MCLANE EXPRESS INCORPORATED	1000		
	BOWL PACK, 96 CT, LOW SUGAR PREFERED, PRIMARY INGREDIENT MUST BE WHOLE GRAIN							
14	OATS, GLUTEN FREE	Y		CS	BRAUN BEEF CO INC	2800	\$16.79	\$47,012.00
				65	TOTAL MILLO CALED TO	0000		
					*GENERAL MILLS SALES INC	2800		
15	COFFEE, REGULAR GRIND, 8/3LB OR 8/39 OZ VACUUM CANS/CASE	Y			*MCLANE EXPRESS INCORPORATED *MCLANE EXPRESS INCORPORATED	2800 50		
10	TAGGOM GANG/GAGE			GO.	MOLANE EXPRESS INCORPORATED	30		
	STUFFING MIX, MADE WITH A BLEND OF			cs	BYRNE BROS FOODS INC	50	\$62.76	\$3,138.00
	CORNBREAD AND OTHER SPECIALTY BREADS, LARGE AND VARIED CUTS OF BREAD COMBINED							
	WITH CLELERY, ONION, HERBS, AND SEASONINGS, PREPARED WITH HOT WATER							
16	ONLY, NO TRANS FATS, 6/32OZ	Y			BYRNE BROS FOODS INC SUGAR FOODS CORPORATION	500 500	\$34.62 \$51.00	

		Extended
Line# Item Description (Y / N) Code UOM Supplier Qty Pri CRACKERS, SALTINE, 51% WHOLE GRAIN, INDIVIUALLY WRAPPED Y CS BRAUN BEEF CO INC 1000 \$* CS BYRNE BROS FOODS INC 1000 \$*		
17 INDIVIUALLY WRAPPED Y CS BRAUN BEEF CO INC 1000 \$7 CS BYRNE BROS FOODS INC 1000 \$2		Price
	4.94	\$14,940.00
CRANBERRIES DRIED SWEFTENED INDIVIDAL	4.00	\$24,000.00
PACKAGES, WATERMELON FLAVOR, 2.50Z, NO 18 ARTIFICIAL FLAVORS OR PRESERVATIVES Y CS BYRNE BROS FOODS INC 750 \$4	1.51	\$31,132.50
19 CRANBERRY SAUCE, JELLIED, 6/#10 CANS Y CS *MCLANE EXPRESS INCORPORATED 200		
CROUTONS, LIGHTLY SEASONED, 51% WHOLE	9.30	\$7,860.00
20 GRAIN, LARGE CUT Y CS BRAUN BEEF CO INC 100 \$1	7.14	\$1,714.00
9PS CS BYRNE BROS FOODS INC 100 \$1	9.70 9.85	\$1,970.00 \$1,985.00
21 (CPT) DRESSING, CEASAR, DRY MIX Y CS BYRNE BROS FOODS INC 150 \$3 DRESSING, ITALIAN, P.C., 1 OZ, MUST BE SHELF	8.52	\$5,778.00
22 STABLE, 100/CS 9PS CS DIAMOND CRYSTAL BRANDS INC 100 S	6.83	\$683.00
Y CS KENS FOODS INC 100 \$7	0.14	\$1,014.00
9PS CS BYRNE BROS FOODS INC 100 \$1	9.00	\$1,900.00
FLOUR, ENRICHED, ALL PURPOSE, 5 OR 10 LB	F 70	¢2 576 00
23 BAGS PREFERRED Y BG BYRNE BROS FOODS INC 100 \$2	25.76	\$2,576.00
24 FOOD COLORING, GREEN, QT PACK Y EA BYRNE BROS FOODS INC 50 \$5 FRUIT COCKTAIL, EXTRA-LIGHT SYRUP OR	2.86	\$2,643.00
25 PACKED IN JUICE, FANCY, 6/#10 CANS 3TQ CS ROBBINS SALES COMPANY, INC. 2000 \$2	6.50	\$53,000.00
3TQ CS BRAUN BEEF CO INC 2000 \$2	7.50	\$55,000.00
	7.55	\$55,100.00
	9.25	\$58,500.00
Y 4BV CS *CHURCHFIELD TRADING COMPANY 2000		
FRUIT CUPS, INDIVIDUALLY PACKAGED, SHELF		
26 STABLE, 4.5 OZ (1/2 CUP), JUICE PACKED, FANCY, 9PS CS *GOOD SOURCE SOLUTIONS 500		
3TQ CS NU HEALTH FOODS LLC 500 \$:	3.60	\$16 900 00
3TQ CS NU HEALTH FOODS LLC 500 \$	J.00	\$16,800.00
Y 4BV CS *NATIONAL FOOD GROUP INC 500 GRANOLA, BULK, GLUTEN FREE, NO WHEAT		
27 INGREDIENTS, NO SOY PREFERRED Y CS *MCLANE EXPRESS INCORPORATED 500	0.00	040 400 5
9PS CS BYRNE BROS FOODS INC 500 \$8		\$16,190.00 \$27,440.00
9PS CS LLC 500		
	1	
GRANOLA, INDIVIDUALLY PACKAGED, 51% WHOLE GRAIN, LOW FAT, GLUTEN FREE, NO WHEAT		
28 INGREDIENTS, PLAIN AND FLAVOR VARIETIES 9PS CS BYRNE BROS FOODS INC 500 \$2	5.92	\$12,960.00
3TQ CS *MCLANE EXPRESS INCORPORATED 500		
Y 4BV CS BRAUN BEEF CO INC 500 \$5	6.00	\$18,000.00
9PS CS LLC 500		
29 GRAPE JELLY, P.C., 1.5 OZ, SHELF STABLE 9PS CS BYRNE BROS FOODS INC 2500 S	8.00	\$20,000.00
13/3 OF PHILE BROWN OF BUILDING AND ADDRESS OF THE PRINCE BROWN OF THE BROWN OF T		,
Y 4BV CS *MCLANE EXPRESS INCORPORATED 2500		
	9.16	\$22,900.00
CS BRAUN BEEF CO INC 2500 S	9.90	\$24,750.00

Line#	Item Description	Award (Y/N)	Reason Code	UOM	Supplier	Qty	Price	Extended Price
GRAVY MIX, C	COUNTRY STYLE, NO TRANS FAT, NO	(17N)	Code	OOW	Зиррнеі	Qty	FIICE	FIICE
MORE THAN 2 30 6/24 OZ.	250 MG SODIUM, ADD WATER ONLY,	Υ		CS	*C H GUENTHER & SON INC	800		
00 6/24-02				00	on colimica den inc	000		
				cs	BRAUN BEEF CO INC	800	\$13.00	\$10,400.00
				cs	*MCLANE EXPRESS INCORPORATED	800		
				cs	BYRNE BROS FOODS INC	800	\$18.00	\$14,400.00
				Ce	CUSTOM CUI INARY INCORPORATED	800	\$18.55	\$14.940.00
					DIAMOND CRYSTAL BRANDS INC	800	\$18.85	\$14,840.00 \$15,080.00
LIGHTY 400Y	BURE US ORABE A BASKER AAKS			cs	*LASCO FOODS	800		
31 GAL. Or SIMIL	PURE, US GRADE A, PACKED 8 1/2 AR	Υ		cs	BYRNE BROS FOODS INC	300	\$86.58	\$25,974.00
IALADENG DE	EPPERS, NACHO SLICED, DOMESTIC							
	ER OR NATURAL JUICE, 6/#10 CANS		9PS	cs	BYRNE BROS FOODS INC	300	\$18.30	\$5,490.00
		Υ	4BV	cs	SCHREIBER FOODS INTERNATIONAL	300	\$19.50	\$5,850.00
		Y	4BV	US	INC	300	\$19.50	#3,630.00
				CS	*CHURCHFIELD TRADING COMPANY	300		
				cs	*MCLANE EXPRESS INCORPORATED	300		
					BRAUN BEEF CO INC	300	\$26.53	\$7,959.00
			9PS	CS	CONAGRA FOODS INCORPORATED	300	\$46.44	\$13,932.00
	, 100% JUICE, SHELF STABLE, 4.23		51.5				ψ+0.++	\$13,332.00
33 OZ. 44/CS.		Υ		CS	*APPLE AND EVE	1100		
				cs	*MCLANE EXPRESS INCORPORATED	1100		
					BRAUN BEEF CO INC	1100	\$6.34	\$6,974.00
				cs	*HARVEST HILL BEVERAGE COMPANY	1100		
HUGE ORANG	OF OR CIVIL AR ACCOUNTS			CS	*CEBEV LLC	1100		
34 STABLE, 4.23	GE OR SIMILAR, 100% JUICE, SHELF OZ. 44/CS.	Υ		cs	APPLE AND EVE	800	\$6.15	\$4,920.00
				-00	*MOLANIC EXPRESS INCORPORATED	200		
				CS	*MCLANE EXPRESS INCORPORATED BRAUN BEEF CO INC	800 800	\$6.34	\$5,072.00
				Ce	*HARVEST HILL BEVERAGE COMPANY	800		
				CS	*CEBEV LLC	800		
JUICE, VEGET 35 STABLE, 4.23	GABLE & FRUIT BLEND, SHELF		3TQ	cs	*HARVEST HILL BEVERAGE COMPANY	1000		
00 0111-11-1,4720	<u> </u>		שוע	- 55		1000		
		Υ		CS	*MCLANE EXPRESS INCORPORATED	1000		
					BRAUN BEEF CO INC	1000	\$7.98	\$7,980.00
				cs	*APPLE AND EVE	1000		
				CS	*CEBEV LLC	1000		
MANDARIN OF	RANGES, WHOLE SEGMENTS, EXTRA							
LIGHT SYRUP	OR NATURAL JUICE PACK, 6/#10							
36 CANS		Υ			SIMCO SALES INCORPORATED BRAUN BEEF CO INC	4000 4000	\$23.76 \$25.39	\$95,040.00 \$101,560.00
			1				+_5.05	Ţ.J.,UJ0.00
			-	CS	*CHURCHFIELD TRADING COMPANY BYRNE BROS FOODS INC	4000 4000	\$26.10	\$104,400.00
					SCHREIBER FOODS INTERNATIONAL			-
 			-	cs	INC	4000	\$26.75	\$107,000.00
					DODDING OAL EQ 000000	40		A40W 222 5
			-	cs	ROBBINS SALES COMPANY, INC.	4000	\$26.98	\$107,920.00
			<u> </u>	CS	*GOOD SOURCE SOLUTIONS	4000		

		Award	Reason					Extended
Line#	Item Description	(Y / N)	Code	UOM	Supplier *CHURCHFIELD TRADING COMPANY-	Qty	Price	Price
				cs	ALT	4000		
	MANDARIN ORANGE CUPS, PACKED IN JUICE, 4.5 OZ, 72/CS		9PS	cs	*GOOD SOURCE SOLUTIONS	1500		
	,	Υ	4BV	CS	*NATIONAL FOOD GROUP INC	1500	*	
			9PS	cs	NU HEALTH FOODS LLC	1500	\$33.60	\$50,400.00
38	CHERRIES HALVES 6/.5 GAL / CS		9PS	cs	*MCLANE EXPRESS INCORPORATED	200		
			1NL	cs	SCHREIBER FOODS INTERNATIONAL INC	200	\$41.50	\$8,300.00
			1145			200	¥11100	\$0,000.00
		Υ	4BV	cs	BYRNE BROS FOODS INC	200	\$44.04	\$8,808.00
	MAYONNAISE, LIGHT, P.C., 12 GR, ORDERED IN		.5.					
39	SMALLER QUANTITIES, 75 CS PER ORDER	Y		CS	DIAMOND CRYSTAL BRANDS INC	1000	\$8.02	\$8,020.00
				-00	*MOLANIC EXPRESS INCORPORATED	4000		
				cs	*MCLANE EXPRESS INCORPORATED	1000		
				Ce	BYRNE BROS FOODS INC	1000	\$16.00	\$16,000.00
40	MAYONNAISE, LIGHT, 4/1 GALLON/CASE	Υ		CS	BRAUN BEEF CO INC	600	\$22.45	\$13,470.00
			 	cs	KENS FOODS INC	600	\$22.90	\$13,740.00
	MEAL BREAKS, CHEESE SPREAD CUP WITH		9PS	CS	BYRNE BROS FOODS INC	600	\$48.00	\$28,800.00
	VEGGIE JUICE, PRE-PACKAGED MEALS FOR							
	LUNCH, SHELF STABLE, ES FOODS #61430 or Similar	Υ		CS	*ES FOODS	500		
71	Cirina	'			BRAUN BEEF CO INC	500	\$62.63	\$31,315.00
	MEAL BREAKS, CHEESE AND BEEF STICKS, PRE-							
42	PACKAGED MEALS FOR SUPPER, SHELF STABLE	Υ			*ES FOODS	600	A74.04	A 44 484 88
			9PS	CS	BRAUN BEEF CO INC	600	\$74.04	\$44,424.00
43	MEAL BREAKS, CHIPS & DIPS, PRE-PACKAGED MEALS FOR SUPPER, SHELF STABLE	Υ		Ce	*ES FOODS	800		
-10	III. ZAZOTOK GOTT EK, GITELI GTABLE			00	2313030	000		
			9PS	cs	BRAUN BEEF CO INC	800	\$84.14	\$67,312.00
	MEAL BREAKS BEAN DIP CUP, PRE-PACKAGED							
44	MEALS FOR SUPPER, SHELF STABLE	Υ			*ES FOODS BRAUN BEEF CO INC	500 500	\$58.30	\$29,150.00
	MIX, TURKEY GRAVY, ADD WATER ONLY, NO							-
45	TRANS-FATS	γ	9PS 4BV		DIAMOND CRYSTAL BRANDS INC *C H GUENTHER & SON INC	75 75	\$14.60	\$1,095.00
			450		BRAUN BEEF CO INC	75	\$16.70	\$1,252.50
				cs	*MCLANE EXPRESS INCORPORATED	75		
					BYRNE BROS FOODS INC	75	\$23.52	\$1,764.00
				cs	CUSTOM CULINARY INCORPORATED	75	\$31.04	\$2,328.00
46	MUFFIN OR QUICK BREAD MIX, 51% WHOLE GRAIN, JUST ADD WATER, VARIETY USE		3TQ	cs	*C H GUENTHER & SON INC	400	T	
	LIN, MINISTER COL		3TQ		BRAUN BEEF CO INC	400	\$34.71	\$13,884.00
			3TQ	cs	*MCLANE EXPRESS INCORPORATED	400		
	MUSTARD INDIVIDUAL D.C. FANCY AS CRAM	Υ	4BV		*STERLING BV INC	400		
47	MUSTARD, INDIVIDUAL P.C., FANCY, 4.5 GRAM, 500/CS	Υ			BYRNE BROS FOODS INC	500	\$5.50	\$2,750.00
			9PS	CS	DIAMOND CRYSTAL BRANDS INC	500	\$6.37	\$3,185.00
			9PS		*MCLANE EXPRESS INCORPORATED	500		
48	CREAMER, NON-DAIRY, P.C.	Υ	9PS		DIAMOND CRYSTAL BRANDS INC BYRNE BROS FOODS INC	40 40	\$6.72 \$25.00	\$268.80 \$1,000.00
	OATMEAL BARS, STRAWBERRY, WHOLE GRAIN,							-
49	IW, 120/CASE	Υ	4NS		BYRNE BROS FOODS INC *NATIONAL FOOD GROUP INC	1200 1200	\$29.40	\$35,280.00
					THE MASTERS DISTRIBUTION SYSTEMS	1200	\$48.90	\$58,680.00

		Award	Reason					Extended
Line#	Item Description	(Y / N)	Code	UOM	Supplier	Qty	Price	Price
	PAN RELEASE, AEROSAL, HIGH YIELD, MINIMUM 90% OIL, NO WATER, GRAIN ALCOHOL, SALT, OR							
51	INORGANIC COMPOUNDS, ZERO CALORIES PER SPRAY, NO CFC'S OR ADDED TRANS-FATS, 6/14 OZ/CS		9PS	cs	BYRNE BROS FOODS INC	800	\$17.34	\$13,872.00
		Υ	4BV	CS	PARWAY TRYSON	800	\$17.75	\$14,200.00
				cs	*MCLANE EXPRESS INCORPORATED	800		
				cs	CONAGRA FOODS INCORPORATED	800	\$21.99	\$17,592.00
52	PASTA, PENNE, ENRICHED FLOUR. 20# CASE	Υ		cs	*BARILLA AMERICA INC	500		
				Ce	*MCLANE EXPRESS INCORPORATED	500		
53	LINUGINI CUT, ENRICHED FLOUR. 20#/CASE	Υ			*BARILLA AMERICA INC	400		
					*MCLANE EXPRESS INCORPORATED	400		
			9PS	CS	BRAUN BEEF CO INC	400	\$26.47	\$10,588.00
54	PEACHES, SLICED, EXTRA LIGHT SYRUP OR NATURAL JUICE PACK, GRADE B, 6/#10 CANS/CS		3TQ	cs	ROBBINS SALES COMPANY, INC.	5000	\$25.24	\$126,200.00
			3TQ	CS	BRAUN BEEF CO INC SCHREIBER FOODS INTERNATIONAL	5000	\$26.47	\$132,350.00
					l		***	
		V	3TQ 4BV		BYRNE BROS FOODS INC	5000 5000	\$26.95 \$27.00	
		Y	4BV	cs	BYRNE BROS FOODS INC	5000	\$26.95 \$27.00	\$134,750.00 \$135,000.00
		Y						
		Y		cs	BYRNE BROS FOODS INC *CHURCHFIELD TRADING COMPANY	5000	\$27.00	\$135,000.00
	DEADS DICED BADTIETT CRADE B EYTDA	Y		cs	BYRNE BROS FOODS INC	5000		\$135,000.00
55	PEARS, DICED, BARTLETT, GRADE B, EXTRA LIGHT SYRUP OR NATURAL JUICE PACK, 6/#10/CS	Y		cs cs	BYRNE BROS FOODS INC *CHURCHFIELD TRADING COMPANY	5000	\$27.00	\$135,000.00 \$182,050.00
55		Y	4BV	cs cs	BYRNE BROS FOODS INC *CHURCHFIELD TRADING COMPANY SIMCO SALES INCORPORATED	5000 5000 5000	\$27.00 \$36.41	\$135,000.00 \$182,050.00
55		Y	4BV	CS CS CS	BYRNE BROS FOODS INC *CHURCHFIELD TRADING COMPANY SIMCO SALES INCORPORATED	5000 5000 5000	\$27.00 \$36.41	\$135,000.00 \$182,050.00 \$45,960.00
55		Y	3TQ 3TQ	CS CS CS	BYRNE BROS FOODS INC *CHURCHFIELD TRADING COMPANY SIMCO SALES INCORPORATED ROBBINS SALES COMPANY, INC. BYRNE BROS FOODS INC	5000 5000 5000 2000 2000	\$27.00 \$36.41 \$22.98 \$23.25	\$135,000.00 \$182,050.00 \$45,960.00 \$46,500.00
55		Y	4BV 3TQ	CS CS CS	BYRNE BROS FOODS INC *CHURCHFIELD TRADING COMPANY SIMCO SALES INCORPORATED ROBBINS SALES COMPANY, INC.	5000 5000 5000 2000	\$27.00 \$36.41 \$22.98	\$135,000.00 \$182,050.00 \$45,960.00 \$46,500.00
55		Y	3TQ 3TQ 3TQ	CS CS CS CS	BYRNE BROS FOODS INC *CHURCHFIELD TRADING COMPANY SIMCO SALES INCORPORATED ROBBINS SALES COMPANY, INC. BYRNE BROS FOODS INC	5000 5000 5000 2000 2000	\$27.00 \$36.41 \$22.98 \$23.25	\$135,000.00 \$182,050.00 \$45,960.00 \$46,500.00
55			3TQ 3TQ	CS CS CS CS CS	BYRNE BROS FOODS INC *CHURCHFIELD TRADING COMPANY SIMCO SALES INCORPORATED ROBBINS SALES COMPANY, INC. BYRNE BROS FOODS INC BRAUN BEEF CO INC *CHURCHFIELD TRADING COMPANY SCHREIBER FOODS INTERNATIONAL	5000 5000 5000 2000 2000 2000	\$27.00 \$36.41 \$22.98 \$23.25 \$23.34	\$182,050.00 \$182,050.00 \$45,960.00 \$46,500.00
55	LIGHT SYRUP OR NATURAL JUICE PACK, 6/#10/CS		3TQ 3TQ 3TQ	CS CS CS CS CS	BYRNE BROS FOODS INC *CHURCHFIELD TRADING COMPANY SIMCO SALES INCORPORATED ROBBINS SALES COMPANY, INC. BYRNE BROS FOODS INC BRAUN BEEF CO INC *CHURCHFIELD TRADING COMPANY	5000 5000 5000 2000 2000	\$27.00 \$36.41 \$22.98 \$23.25	\$182,050.00 \$182,050.00 \$45,960.00 \$46,500.00
			3TQ 3TQ 3TQ	CS CS CS CS CS CS	BYRNE BROS FOODS INC *CHURCHFIELD TRADING COMPANY SIMCO SALES INCORPORATED ROBBINS SALES COMPANY, INC. BYRNE BROS FOODS INC BRAUN BEEF CO INC *CHURCHFIELD TRADING COMPANY SCHREIBER FOODS INTERNATIONAL	5000 5000 5000 2000 2000 2000	\$27.00 \$36.41 \$22.98 \$23.25 \$23.34	\$182,050.00 \$182,050.00 \$45,960.00 \$46,500.00
	LIGHT SYRUP OR NATURAL JUICE PACK, 6/#10/CS PEAS, BLACKEYED, DRY PEAS REHYDRATED AND	Y	3TQ 3TQ 3TQ 4BV	CS CS CS CS CS CS CS	BYRNE BROS FOODS INC *CHURCHFIELD TRADING COMPANY SIMCO SALES INCORPORATED ROBBINS SALES COMPANY, INC. BYRNE BROS FOODS INC BRAUN BEEF CO INC *CHURCHFIELD TRADING COMPANY SCHREIBER FOODS INTERNATIONAL INC *BUSH BROTHERS & COMPANY	5000 5000 5000 2000 2000 2000 2000 2000 500	\$27.00 \$36.41 \$22.98 \$23.25 \$23.34	\$182,050.00 \$45,960.00 \$46,500.00 \$46,680.00
	PEAS, BLACKEYED, DRY PEAS REHYDRATED AND CANNED, FANCY, 6/#10 CANS/CS PICKLES, DILL, SLICED HAMBURGER CHIP STYLE,	Y	3TQ 3TQ 3TQ	CS CS CS CS CS CS CS	BYRNE BROS FOODS INC *CHURCHFIELD TRADING COMPANY SIMCO SALES INCORPORATED ROBBINS SALES COMPANY, INC. BYRNE BROS FOODS INC *CHURCHFIELD TRADING COMPANY SCHREIBER FOODS INTERNATIONAL INC *BUSH BROTHERS & COMPANY BYRNE BROS FOODS INC	5000 5000 5000 2000 2000 2000 2000 2000	\$27.00 \$36.41 \$22.98 \$23.25 \$23.34	\$182,050.00 \$45,960.00 \$46,500.00 \$46,680.00
56	PEAS, BLACKEYED, DRY PEAS REHYDRATED AND CANNED, FANCY, 6/#10 CANS/CS	Y	3TQ 3TQ 3TQ 4BV	CS CS CS CS CS CS CS CS	BYRNE BROS FOODS INC *CHURCHFIELD TRADING COMPANY SIMCO SALES INCORPORATED ROBBINS SALES COMPANY, INC. BYRNE BROS FOODS INC BRAUN BEEF CO INC *CHURCHFIELD TRADING COMPANY SCHREIBER FOODS INTERNATIONAL INC *BUSH BROTHERS & COMPANY	5000 5000 5000 2000 2000 2000 2000 2000 500	\$27.00 \$36.41 \$22.98 \$23.25 \$23.34	\$182,050.00 \$182,050.00 \$45,960.00 \$46,500.00 \$46,680.00 \$53,000.00
56	PEAS, BLACKEYED, DRY PEAS REHYDRATED AND CANNED, FANCY, 6/#10 CANS/CS PICKLES, DILL, SLICED HAMBURGER CHIP STYLE, NO MORE THAN 300mg SODIUM PER 1 OZ	Y	3TQ 3TQ 3TQ 4BV	CS CS CS CS CS CS CS CS	BYRNE BROS FOODS INC *CHURCHFIELD TRADING COMPANY SIMCO SALES INCORPORATED ROBBINS SALES COMPANY, INC. BYRNE BROS FOODS INC *CHURCHFIELD TRADING COMPANY SCHREIBER FOODS INTERNATIONAL INC *BUSH BROTHERS & COMPANY BYRNE BROS FOODS INC SCHREIBER FOODS INCE	5000 5000 5000 2000 2000 2000 2000 500 5	\$27.00 \$36.41 \$22.98 \$23.25 \$23.34 \$26.50	\$182,050.00 \$182,050.00 \$45,960.00 \$46,500.00 \$46,680.00 \$53,000.00
56	PEAS, BLACKEYED, DRY PEAS REHYDRATED AND CANNED, FANCY, 6/#10 CANS/CS PICKLES, DILL, SLICED HAMBURGER CHIP STYLE, NO MORE THAN 300mg SODIUM PER 1 OZ	Y	3TQ 3TQ 3TQ 4BV	CS CS CS CS CS CS CS CS CS	BYRNE BROS FOODS INC *CHURCHFIELD TRADING COMPANY SIMCO SALES INCORPORATED ROBBINS SALES COMPANY, INC. BYRNE BROS FOODS INC *CHURCHFIELD TRADING COMPANY SCHREIBER FOODS INTERNATIONAL INC *BUSH BROTHERS & COMPANY BYRNE BROS FOODS INC SCHREIBER FOODS INCE	5000 5000 5000 2000 2000 2000 2000 500 5	\$27.00 \$36.41 \$22.98 \$23.25 \$23.34 \$26.50	\$135,000.00 \$182,050.00 \$45,960.00 \$46,680.00 \$53,000.00 \$12,725.00 \$8,575.00
56	PEAS, BLACKEYED, DRY PEAS REHYDRATED AND CANNED, FANCY, 6/#10 CANS/CS PICKLES, DILL, SLICED HAMBURGER CHIP STYLE, NO MORE THAN 300mg SODIUM PER 1 OZ SERVING, 4/1 GAL/CS PINEAPPLE TIDBITS, EXTRA LIGHT SYRUP OR	Y	3TQ 3TQ 3TQ 4BV	CS CS CS CS CS CS CS CS CS	BYRNE BROS FOODS INC *CHURCHFIELD TRADING COMPANY SIMCO SALES INCORPORATED ROBBINS SALES COMPANY, INC. BYRNE BROS FOODS INC *CHURCHFIELD TRADING COMPANY SCHREIBER FOODS INTERNATIONAL INC *BUSH BROTHERS & COMPANY BYRNE BROS FOODS INC SCHREIBER FOODS INTERNATIONAL INC BYRNE BROS FOODS INC BYRNE BROS FOODS INC BYRNE BROS FOODS INC	5000 5000 5000 2000 2000 2000 2000 500 5	\$27.00 \$36.41 \$22.98 \$23.25 \$23.34 \$26.50 \$25.45	\$135,000.00 \$182,050.00 \$45,960.00 \$46,680.00 \$53,000.00 \$12,725.00 \$8,575.00
56	PEAS, BLACKEYED, DRY PEAS REHYDRATED AND CANNED, FANCY, 6/#10 CANS/CS PICKLES, DILL, SLICED HAMBURGER CHIP STYLE, NO MORE THAN 300mg SODIUM PER 1 OZ SERVING, 4/1 GAL/CS	Y	3TQ 3TQ 3TQ 4BV	CS CS CS CS CS CS CS CS CS	BYRNE BROS FOODS INC *CHURCHFIELD TRADING COMPANY SIMCO SALES INCORPORATED ROBBINS SALES COMPANY, INC. BYRNE BROS FOODS INC *CHURCHFIELD TRADING COMPANY SCHREIBER FOODS INTERNATIONAL INC *BUSH BROTHERS & COMPANY BYRNE BROS FOODS INC SCHREIBER FOODS INTERNATIONAL INC BYRNE BROS FOODS INC SCHREIBER FOODS INTERNATIONAL INC	5000 5000 5000 2000 2000 2000 2000 500 5	\$27.00 \$36.41 \$22.98 \$23.25 \$23.34 \$26.50 \$25.45	\$134,750.00 \$135,000.00 \$182,050.00 \$45,960.00 \$46,500.00 \$46,680.00 \$12,725.00 \$10,740.00 \$44,875.00
56	PEAS, BLACKEYED, DRY PEAS REHYDRATED AND CANNED, FANCY, 6/#10 CANS/CS PICKLES, DILL, SLICED HAMBURGER CHIP STYLE, NO MORE THAN 300mg SODIUM PER 1 OZ SERVING, 4/1 GAL/CS PINEAPPLE TIDBITS, EXTRA LIGHT SYRUP OR NATURAL JUICE PACK, GRADE A, PRODUCT OF	Y	3TQ 3TQ 3TQ 4BV	CS	BYRNE BROS FOODS INC *CHURCHFIELD TRADING COMPANY SIMCO SALES INCORPORATED ROBBINS SALES COMPANY, INC. BYRNE BROS FOODS INC *CHURCHFIELD TRADING COMPANY SCHREIBER FOODS INTERNATIONAL INC *BUSH BROTHERS & COMPANY BYRNE BROS FOODS INC SCHREIBER FOODS INTERNATIONAL INC BYRNE BROS FOODS INC SCHREIBER FOODS INTERNATIONAL INC	5000 5000 5000 2000 2000 2000 2000 500 5	\$27.00 \$36.41 \$22.98 \$23.25 \$23.34 \$26.50 \$25.45 \$17.15	\$182,050.00 \$45,960.00 \$46,500.00 \$46,680.00 \$12,725.00 \$8,575.00

		Award	Reason					Extended
Line#	Item Description	(Y/N)	Code	UOM	Supplier	Qty	Price	Price
				CS	BRAUN BEEF CO INC	2500	\$19.29	\$48,225.00
				cs	SIMCO SALES INCORPORATED	2500	\$19.53	\$48,825.00
				CS	*GOOD SOURCE SOLUTIONS	2500		
				-	*CHURCUEIE D TRADING COMPANY	0500		
				CS	*CHURCHFIELD TRADING COMPANY	2500		
				cs	BYRNE BROS FOODS INC	2500	\$23.55	\$58,875.00
				cs	*CHURCHFIELD TRADING COMPANY- ALT	2500		
	POTATOES, INSTANT, PREMIUM PEARLS, NO			- 03	ALI	2300		
	TRANS FATS, VEGETARIAN, GLUTEN FREE, NO MORE THAN 350mg OF SODIUM PER SERVING,							
59	10/29.3 OZ POUCHES/CS		3TQ	cs	*MCLANE EXPRESS INCORPORATED	3000		
			3TQ	cs	*CHURCHFIELD TRADING COMPANY	3000		
		Υ	4BV		BASIC AMERICAN INC BYRNE BROS FOODS INC	3000 3000	\$40.55 \$41.90	\$121,650.00 \$125,700.00
60	PUDDING CUP, CHOCOLATE, INDIVIUALLY PACKAGED		3TQ	Ce	BRAUN BEEF CO INC	500	\$12.59	\$6,295.00
- 60	PACKAGED							
	PUDDING CUP, VANILLA, INDIVIDUALLY	Υ	4BV	CS	CONAGRA FOODS INCORPORATED	500	\$14.61	\$7,305.00
61	PACKAGED		3QT	CS	BRAUN BEEF CO INC	500	\$12.59	\$6,295.00
		Υ	4BV	cs	CONAGRA FOODS INCORPORATED	500	\$14.61	\$7,305.00
	RAISINS, GOLDEN, SOUR STRAWBERRY, NO ADDED SUGAR OR ARTIFICIAL FLAVORS, 1.33 OZ							
62	BOX, 144/CS	Υ		cs	*MCLANE EXPRESS INCORPORATED	800		
				cc	BADNE BDOS LOODS INC	800	¢ 47 F2	£20 04C 00
				CS	BYRNE BROS FOODS INC	800	\$47.52	\$38,016.00
63	RAISINS, INDIVIDUAL, 1.33 OZ BOX, 144/CS OR SIMILAR	NA- At this Time		cs	*CHURCHFIELD TRADING COMPANY	850		
		tino tinic						
				cs	*GOOD SOURCE SOLUTIONS	850		
				cs	*MCLANE EXPRESS INCORPORATED	850		
				cs	THE MASTERS DISTRIBUTION SYSTEMS	850	\$30.11	\$25 502 50
				CS	*NATIONAL FOOD GROUP INC	850		\$25,593.50
				cs	BYRNE BROS FOODS INC	850	\$31.68	\$26,928.00
	RANCH (BUTTERMILK) DRESSING, DRY MIX, NO MORE THAN 50mg SODIUM PER SERVING SIZE, NO							
64	ARTIFICIAL COLORS OR FLAVORS, 18 PKGS/CS		9PS		BYRNE BROS FOODS INC	400	\$18.36	\$7,344.00
		Υ	9PS		*LASCO FOODS SUGAR FOODS CORPORATION	400 400	\$25.29	\$10,116.00
	RICE, BROWN, INFUSED, MEXICAN FLAVOR, 51% WHOLE GRAIN, PARBOILED, PRE-SEASONED,							
65	QUICK PREPARATION TIME	Υ			*MCLANE EXPRESS INCORPORATED	700	*	
	RICE, BROWN, INFUSED, PILAF STYLE, 51%			CS	BYRNE BROS FOODS INC	700	\$23.70	\$16,590.00
	WHOLE GRAIN PARBOILED, ROASTED CHICKEN FLAVOR, PRE-SEASONED, QUICK PREPARATION							
66	TIME		4NS	cs	BYRNE BROS FOODS INC	5000	\$22.60	\$113,000.00
L		Υ	4BV	cs	*MCLANE EXPRESS INCORPORATED	5000		
	RICE, BROWN, LONG GRAIN, 51% WHOLE GRAIN,							
67	PARBOILED, 25# BAGS, UNCLE BEN'S OR EQUAL		3TQ	cs	BYRNE BROS FOODS INC	300	\$12.50	\$3,750.00
		Υ	4BV	cs	*MCLANE EXPRESS INCORPORATED	300		
				cs	INDIAN HARVEST SPECIALTIFOODS	300	\$22.50	\$6,750.00
68	SALAD OIL, VEGETABLE	Υ			BYRNE BROS FOODS INC	50	\$45.00	\$2,250.00
	(CPT) SAUCE, BUFFALO WING, BLEND OF CAYENE							
69	PEPPER AND VINEGAR, No Margarine	Υ		CS	KENS FOODS INC	100	\$31.00	\$3,100.00

		A	_					Fotonded
Line#	Item Description	Award (Y / N)	Reason Code	иом	Supplier	Qty	Price	Extended Price
			9PS	cs	BYRNE BROS FOODS INC	100	\$35.92	\$3,592.00
70	SAUCE, THAI CHILI, 6/33.8 OZ./CASE SEASONING, TOASTED ONION & GARLIC, NO	Υ		cs	BYRNE BROS FOODS INC	50	\$32.04	\$1,602.00
71	SALT, NO SUGAR, NO MSG, 6/16 OZ/CS, CHEF PAUL SEASONING BLEND OR EQUAL	Υ		cs	BYRNE BROS FOODS INC	50	\$49.02	\$2,451.00
72	SEASONING, PIZZA & PASTA MAGIC, LOW SALT, NO SUGAR, NO MSG, 6/19.2 OZ/CS, CHEF PAUL MAGIC SEASONING BLEND OR EQUAL SEASONING PACKETS, FRUIT SEASONING,	Υ		cs	BYRNE BROS FOODS INC	50	\$49.02	\$2,451.00
73	CONTAINS CHILI PEPPERS, SALT AND DEHYDRATED LIME JUICE, NO MORE THAN 130mg SODIUM PER 1 GRAM PACKAGE, TAJIN BRAND OR EQUAL.	Υ		cs	BYRNE BROS FOODS INC	250	\$55.00	\$13,750.00
74	SLUSH DRINKS, BLUE RASPBERRY, 100% JUICE, SHELF STABLE, 60/CS.	Υ		cs	*TROPICAL PARADISE INC	500		
75	SLUSH DRINKS, KIWI STRAWBERRY, INDIVIDUALLY PACKAGED, 100% JUICE, SHELF STABLE, 60/CS SLUSH DRINKS, TROPICAL TRIO, INDIVIDUALLY	Y		cs	*TROPICAL PARADISE INC	500		
76	PACKAGED, 100% JUICE, SHELF STABLE, 60/CS	Υ		cs	*TROPICAL PARADISE INC	500		
77	SLUSH DRINKS, PARADISE PUNCH, INDIVIDUALLY PACKAGED, 100% JUICE, SHELF STABLE, 60/CS SOUP BASE, BEEF, SALT FREE, NO MSG, NO TRANS FAT, PASTE FORM ONLY, LIQUID NOT ACCEPTED, INGREDIENT STATEMENT READS BEEF AND BEEF STOCK, ETC, 64 TO 1	Y		cs	*TROPICAL PARADISE INC	500		
78	CONCENTRATE, 12/1# CS	Υ		cs	CUSTOM CULINARY INCORPORATED	500	\$25.91	\$12,955.00
				cs	*LASCO FOODS	500		
				cs	BYRNE BROS FOODS INC	500	\$49.20	\$24,600.00
79	SOUP BASE, CHICKEN, SALT FREE, NO MSG, NO TRANS FAT, PASTE FORM ONLY, NO LIQUID, INGREDIENT STATEMENT MUST READ CHICKEN, INCLUDING NATURAL CHICKEN JUICES, CHICKEN FAT, ETC, 64 TO 1 CONCENTRATE, 12/1#/CS	Y		cs	CUSTOM CULINARY INCORPORATED	500	\$21.87	\$10,935.00
				cs	*LASCO FOODS	500		
				cs	BYRNE BROS FOODS INC	500	\$46.56	\$23,280.00
	SOUP BASE, CREAM, DRY MIX, NO TRANS FAT, NO							
80	MORE THAN 9 GRAMS OF FAT AND 950mg SODIUM PER SERVING, LOWER PREFERRED, 6/28oz/CS	Υ		cs	*C H GUENTHER & SON INC	500		
			9PS	cs	BYRNE BROS FOODS INC	500	\$26.80	\$13,400.00
				CS	*LASCO FOODS	500		
	SOY MILK, VANILLA, PACIFIC NATURAL FOOD OR		9PS	CS	CUSTOM CULINARY INCORPORATED	500	\$30.34	\$15,170.00
81	SUNRICH BRANDS ONLY, 24/8 OZ/CS	Υ	1	cs	BYRNE BROS FOODS INC	200	\$24.24	\$4,848.00
	SOY SAUCE, LOWER SODIUM, NO MORE THAN				SCHREIBER FOODS INTERNATIONAL			
82	575mg PER TLB, 6/1/2 GAL PLASTIC BOTTLES/CS		3QT 9PS		INC DIAMOND CRYSTAL BRANDS INC	150 150	\$14.25 \$31.37	\$2,137.50 \$4,705.50
							+3	+ -,. 00.30
		Υ	4BV	cs	BYRNE BROS FOODS INC	150	\$37.80	\$5,670.00

		Award	Reason					Extended
Line#	Item Description SPICE, BLACK PEPPER, FINE GROUND, 5#	(Y / N)	Code	UOM	Supplier	Qty	Price	Price
83	CONTAINER	Υ	9PS		BADIA SPICE CO BYRNE BROS FOODS INC	100 100	\$16.30 \$25.50	\$1,630.00 \$2,550.00
			9PS	CN	*MCLANE EXPRESS INCORPORATED	100		
	SPICE, CHILI POWDER, GROUND, MILD ROBUST FLAVOR, AMERICAN MADE PRODUCT ONLY, 5# OR							
84	LESS CONTAINER	Y	9PS		BYRNE BROS FOODS INC BADIA SPICE CO	100 100	\$19.45 \$19.5275	\$1,945.00 \$1,952.75
	SPICE, CINNAMON, GROUND, 1# OR LESS		9PS	CN	*MCLANE EXPRESS INCORPORATED	100		
85	CONTAINER	Υ		CN	BADIA SPICE CO	100	\$4.69	\$469.00
			9PS 9PS	CN	*MCLANE EXPRESS INCORPORATED BYRNE BROS FOODS INC	100 100	\$6.75	\$675.00
86	SPICE, CUMIN, GROUND, 1# OR LESS CONTAINER	Y	51 5		BADIA SPICE CO	100	\$3.4016	\$340.16
- 00	SPICE, COMIN, GROUND, 1# ON EESS CONTAINER	'		LA	BADIA SPICE CO	100	\$3.4010	\$340.10
			9PS	EA	BYRNE BROS FOODS INC	100	\$5.80	\$580.00
			0.00		*MOLANIC EVERESS INCORRORATED	100		
	SPICE, GARLIC, GRANULATED, AMERICAN MADE		9PS	EA	*MCLANE EXPRESS INCORPORATED			
87	PRODUCT ONLY, 5#	Υ		CN	BADIA SPICE CO	100	\$15.5525	\$1,555.25
			9PS	CN	BYRNE BROS FOODS INC	100	\$24.30	\$2,430.00
								,
	SPICE, ONION, GRANULATED, AMERICAN MADE		9PS	CN	*MCLANE EXPRESS INCORPORATED	100		
88	PRODUCT ONLY, 5#		9PS 9PS	CS	*MCLANE EXPRESS INCORPORATED BYRNE BROS FOODS INC	40 40	\$21.00	\$840.00
		Υ	4BV		BADIA SPICE CO	40	\$51.72	\$2,068.80
	(CPT) SPICE, ITALIAN SEASONING, NO ADDED SALT, AMERICAN MADE PRODUCT ONLY, 1#							
89	CONTAINERS			CS	*MCLANE EXPRESS INCORPORATED	25		
		Υ	4BV	CS	BYRNE BROS FOODS INC	25	\$47.16	\$1,179.00
90	SPICE, PAPRIKA, LIGHT, 1 LB	Y Y	4BV	CS			\$47.16 \$3.368	\$1,179.00 \$252.600
90	SPICE, PAPRIKA, LIGHT, 1 LB		4BV 9PS 9PS	CS CN CN	BYRNE BROS FOODS INC	25		
90	SPICE, PAPRIKA, LIGHT, 1 LB SPICE, PARSLEY, DRIED, 1 LB		9PS	CN CN	BYRNE BROS FOODS INC BADIA SPICE CO *MCLANE EXPRESS INCORPORATED	25 75 75	\$3.368	\$252.600
		Y	9PS 9PS 9PS	CN CN CN EA	BYRNE BROS FOODS INC BADIA SPICE CO *MCLANE EXPRESS INCORPORATED BYRNE BROS FOODS INC BADIA SPICE CO *MCLANE EXPRESS INCORPORATED	25 75 75 75 200	\$3.368 \$5.75 \$1.666	\$252.600 \$431.25 \$333.20
91	SPICE, PARSLEY, DRIED, 1 LB	Y	9PS 9PS 9PS 9PS	CS CN CN CN EA EA	BYRNE BROS FOODS INC BADIA SPICE CO *MCLANE EXPRESS INCORPORATED BYRNE BROS FOODS INC BADIA SPICE CO *MCLANE EXPRESS INCORPORATED BYRNE BROS FOODS INC	25 75 75 75 200 200 200	\$3.368 \$5.75	\$252.600 \$431.25
91		Y	9PS 9PS 9PS 9PS 4NS 9PS	CN CN CN EA EA CS	BYRNE BROS FOODS INC BADIA SPICE CO *MCLANE EXPRESS INCORPORATED BYRNE BROS FOODS INC BADIA SPICE CO *MCLANE EXPRESS INCORPORATED BYRNE BROS FOODS INC *MCLANE EXPRESS INCORPORATED BYRNE BROS FOODS INC	25 75 75 75 200 200 200 50 50	\$3.368 \$5.75 \$1.666 \$14.50	\$252.600 \$431.25 \$333.20 \$2,900.00
91	SPICE, PARSLEY, DRIED, 1 LB	Y	9PS 9PS 9PS 9PS 4NS	CS CN CN CN EA EA CS CS	BYRNE BROS FOODS INC BADIA SPICE CO *MCLANE EXPRESS INCORPORATED BYRNE BROS FOODS INC BADIA SPICE CO *MCLANE EXPRESS INCORPORATED BYRNE BROS FOODS INC *MCLANE EXPRESS INCORPORATED	25 75 75 75 200 200 200	\$3.368 \$5.75 \$1.666 \$14.50	\$252.600 \$431.25 \$333.20 \$2,900.00
91	SPICE, PARSLEY, DRIED, 1 LB SPICE, PEPPER, RED CRUSHED, BULK	Y	9PS 9PS 9PS 9PS 4NS 9PS	CS CN CN EA EA CS CS CS	BYRNE BROS FOODS INC BADIA SPICE CO "MCLANE EXPRESS INCORPORATED BYRNE BROS FOODS INC BADIA SPICE CO "MCLANE EXPRESS INCORPORATED BYRNE BROS FOODS INC "MCLANE EXPRESS INCORPORATED BYRNE BROS FOODS INC BADIA SPICE CO BYRNE BROS FOODS INC	25 75 75 75 200 200 200 50 50 50	\$3.368 \$5.75 \$1.666 \$14.50 \$7.00 \$38.90	\$252.600 \$431.25 \$333.20 \$2,900.00 \$350.00 \$1,945.00
91	SPICE, PARSLEY, DRIED, 1 LB SPICE, PEPPER, RED CRUSHED, BULK SPICE, SALT, IODIZED, TABLE, 24/26 OZ/CS SPORTS DRINK, G2 GLACIER FREEZE, LOW	Y	9PS 9PS 9PS 9PS 4NS 9PS	CS CN CN CN EA EA CS CS	BYRNE BROS FOODS INC BADIA SPICE CO *MCLANE EXPRESS INCORPORATED BYRNE BROS FOODS INC BADIA SPICE CO *MCLANE EXPRESS INCORPORATED BYRNE BROS FOODS INC *MCLANE EXPRESS INCORPORATED BYRNE BROS FOODS INC BADIA SPICE CO BYRNE BROS FOODS INC *MCLANE EXPRESS INCORPORATED BYRNE BROS FOODS INC *MCLANE EXPRESS INCORPORATED	25 75 75 75 200 200 200 50 50	\$3.368 \$5.75 \$1.666 \$14.50 \$7.00 \$38.90	\$252.600 \$431.25 \$333.20 \$2,900.00 \$350.00 \$1,945.00
91 92 93	SPICE, PARSLEY, DRIED, 1 LB SPICE, PEPPER, RED CRUSHED, BULK SPICE, SALT, IODIZED, TABLE, 24/26 OZ/CS	Y	9PS 9PS 9PS 9PS 4NS 9PS	CS CN CN EA EA EA CS CS CS CS	BYRNE BROS FOODS INC BADIA SPICE CO "MCLANE EXPRESS INCORPORATED BYRNE BROS FOODS INC BADIA SPICE CO "MCLANE EXPRESS INCORPORATED BYRNE BROS FOODS INC "MCLANE EXPRESS INCORPORATED BYRNE BROS FOODS INC BADIA SPICE CO BYRNE BROS FOODS INC	25 75 75 75 200 200 200 50 50 50	\$3.368 \$5.75 \$1.666 \$14.50 \$7.00 \$38.90	\$252.600 \$431.25 \$333.20 \$2,900.00 \$350.00 \$1,945.00
91 92 93	SPICE, PARSLEY, DRIED, 1 LB SPICE, PEPPER, RED CRUSHED, BULK SPICE, SALT, IODIZED, TABLE, 24/26 OZ/CS SPORTS DRINK, G2 GLACIER FREEZE, LOW CALORIE, NO MORE THAN 10 CAL PER 20 OZ	Y	9PS 9PS 9PS 9PS 4NS 9PS 4BV	CS CN CN EA EA EA CS CS CS CS	BYRNE BROS FOODS INC BADIA SPICE CO *MCLANE EXPRESS INCORPORATED BYRNE BROS FOODS INC BADIA SPICE CO *MCLANE EXPRESS INCORPORATED BYRNE BROS FOODS INC *MCLANE EXPRESS INCORPORATED BYRNE BROS FOODS INC BADIA SPICE CO BYRNE BROS FOODS INC *MCLANE EXPRESS INCORPORATED THE MASTERS DISTRIBUTION	25 75 75 75 200 200 200 50 50 100	\$3.368 \$5.75 \$1.666 \$14.50 \$7.00 \$38.90 \$13.44	\$252.600 \$431.25 \$333.20 \$2,900.00 \$350.00 \$1,945.00 \$1,344.00
91 92 93	SPICE, PARSLEY, DRIED, 1 LB SPICE, PEPPER, RED CRUSHED, BULK SPICE, SALT, IODIZED, TABLE, 24/26 OZ/CS SPORTS DRINK, G2 GLACIER FREEZE, LOW CALORIE, NO MORE THAN 10 CAL PER 20 OZ BOTTLE	Y	9PS 9PS 9PS 9PS 4NS 9PS 4BV	CS CN CN CN EA EA EA CS CS CS CS	BYRNE BROS FOODS INC BADIA SPICE CO *MCLANE EXPRESS INCORPORATED BYRNE BROS FOODS INC BADIA SPICE CO *MCLANE EXPRESS INCORPORATED BYRNE BROS FOODS INC *MCLANE EXPRESS INCORPORATED BYRNE BROS FOODS INC BADIA SPICE CO BYRNE BROS FOODS INC *MCLANE EXPRESS INCORPORATED THE MASTERS DISTRIBUTION	25 75 75 75 200 200 200 50 50 100	\$3.368 \$5.75 \$1.666 \$14.50 \$7.00 \$38.90 \$13.44	\$252.600 \$431.25 \$333.20 \$2,900.00 \$350.00 \$1,945.00 \$1,344.00
91 92 93 94	SPICE, PARSLEY, DRIED, 1 LB SPICE, PEPPER, RED CRUSHED, BULK SPICE, SALT, IODIZED, TABLE, 24/26 OZ/CS SPORTS DRINK, G2 GLACIER FREEZE, LOW CALORIE, NO MORE THAN 10 CAL PER 20 OZ SPORTS DRINK, G2 MIXED BERRY CLEAR, LOW CALORIE, NO MORE THAN 10 CAL PER 20 OZ	Y	9PS 9PS 9PS 9PS 4NS 9PS 4BV	CS CN CN EA EA CS CS CS CS CS	BYRNE BROS FOODS INC BADIA SPICE CO "MCLANE EXPRESS INCORPORATED BYRNE BROS FOODS INC BADIA SPICE CO "MCLANE EXPRESS INCORPORATED BYRNE BROS FOODS INC "MCLANE EXPRESS INCORPORATED BYRNE BROS FOODS INC BADIA SPICE CO BYRNE BROS FOODS INC "MCLANE EXPRESS INCORPORATED THE MASTERS DISTRIBUTION "MCLANE EXPRESS INCORPORATED THE MASTERS DISTRIBUTION THE MASTERS DISTRIBUTION	25 75 75 75 200 200 200 50 50 100 1500	\$3.368 \$5.75 \$1.666 \$14.50 \$7.00 \$38.90 \$13.44	\$252.600 \$431.25 \$333.20 \$2,900.00 \$1,945.00 \$1,344.00
91 92 93 94	SPICE, PARSLEY, DRIED, 1 LB SPICE, PEPPER, RED CRUSHED, BULK SPICE, SALT, IODIZED, TABLE, 24/26 OZ/CS SPORTS DRINK, G2 GLACIER FREEZE, LOW CALORIE, NO MORE THAN 10 CAL PER 20 OZ BOTTLE SPORTS DRINK, G2 MIXED BERRY CLEAR, LOW	Y	9PS 9PS 9PS 9PS 4NS 9PS 4BV	CS CN CN EA EA CS CS CS CS CS	BYRNE BROS FOODS INC BADIA SPICE CO "MCLANE EXPRESS INCORPORATED BYRNE BROS FOODS INC BADIA SPICE CO "MCLANE EXPRESS INCORPORATED BYRNE BROS FOODS INC "MCLANE EXPRESS INCORPORATED BYRNE BROS FOODS INC BADIA SPICE CO BYRNE BROS FOODS INC "MCLANE EXPRESS INCORPORATED THE MASTERS DISTRIBUTION SYSTEMS "MCLANE EXPRESS INCORPORATED THE MASTERS DISTRIBUTION SYSTEMS	25 75 75 75 200 200 200 50 50 100	\$3.368 \$5.75 \$1.666 \$14.50 \$7.00 \$38.90 \$13.44	\$252.600 \$431.25 \$333.20 \$2,900.00 \$350.00 \$1,945.00 \$1,344.00
91 92 93 94	SPICE, PARSLEY, DRIED, 1 LB SPICE, PEPPER, RED CRUSHED, BULK SPICE, SALT, IODIZED, TABLE, 24/26 OZ/CS SPORTS DRINK, G2 GLACIER FREEZE, LOW CALORIE, NO MORE THAN 10 CAL PER 20 OZ BOTTLE SPORTS DRINK, G2 MIXED BERRY CLEAR, LOW CALORIE, NO MORE THAN 10 CAL PER 20 OZ BOTTLE	Y	9PS 9PS 9PS 9PS 4NS 9PS 4BV	CS CN CN EA EA EA CS CS CS CS CS CS	BYRNE BROS FOODS INC BADIA SPICE CO "MCLANE EXPRESS INCORPORATED BYRNE BROS FOODS INC BADIA SPICE CO "MCLANE EXPRESS INCORPORATED BYRNE BROS FOODS INC "MCLANE EXPRESS INCORPORATED BYRNE BROS FOODS INC BADIA SPICE CO BYRNE BROS FOODS INC "MCLANE EXPRESS INCORPORATED THE MASTERS DISTRIBUTION "MCLANE EXPRESS INCORPORATED THE MASTERS DISTRIBUTION THE MASTERS DISTRIBUTION	25 75 75 75 200 200 200 50 50 100 1500	\$3.368 \$5.75 \$1.666 \$14.50 \$7.00 \$38.90 \$13.44	\$252.600 \$431.25 \$333.20 \$2,900.00 \$1,945.00 \$1,344.00
91 92 93 94	SPICE, PARSLEY, DRIED, 1 LB SPICE, PEPPER, RED CRUSHED, BULK SPICE, SALT, IODIZED, TABLE, 24/26 OZ/CS SPORTS DRINK, G2 GLACIER FREEZE, LOW CALORIE, NO MORE THAN 10 CAL PER 20 OZ SPORTS DRINK, G2 MIXED BERRY CLEAR, LOW CALORIE, NO MORE THAN 10 CAL PER 20 OZ	Y	9PS 9PS 9PS 9PS 4NS 9PS 4NS 4BV	CS CN CN EA EA EA CS CS CS CS CS	BYRNE BROS FOODS INC BADIA SPICE CO *MCLANE EXPRESS INCORPORATED BYRNE BROS FOODS INC BADIA SPICE CO *MCLANE EXPRESS INCORPORATED BYRNE BROS FOODS INC *MCLANE EXPRESS INCORPORATED BYRNE BROS FOODS INC BYRNE BROS FOODS INC *MCLANE EXPRESS INCORPORATED BYRNE BROS FOODS INC *MCLANE EXPRESS INCORPORATED THE MASTERS DISTRIBUTION SYSTEMS *MCLANE EXPRESS INCORPORATED THE MASTERS DISTRIBUTION SYSTEMS	25 75 75 75 200 200 200 50 50 100 1500	\$3.368 \$5.75 \$1.666 \$14.50 \$7.00 \$38.90 \$13.44	\$252.600 \$431.25 \$333.20 \$2,900.00 \$1,945.00 \$1,344.00
91 92 93 94	SPICE, PARSLEY, DRIED, 1 LB SPICE, PEPPER, RED CRUSHED, BULK SPICE, SALT, IODIZED, TABLE, 24/26 OZ/CS SPORTS DRINK, G2 GLACIER FREEZE, LOW CALORIE, NO MORE THAN 10 CAL PER 20 OZ BOTTLE SPORTS DRINK, G2 MIXED BERRY CLEAR, LOW CALORIE, NO MORE THAN 10 CAL PER 20 OZ BOTTLE SPORTS DRINK, G2 GRAPE, LOW CALORIE, NO	Y	9PS 9PS 9PS 9PS 4NS 9PS 4NS 4BV	CS CN CN EA EA EA CS CS CS CS CS CS CS CS CS	BYRNE BROS FOODS INC BADIA SPICE CO *MCLANE EXPRESS INCORPORATED BYRNE BROS FOODS INC BADIA SPICE CO *MCLANE EXPRESS INCORPORATED BYRNE BROS FOODS INC *MCLANE EXPRESS INCORPORATED BYRNE BROS FOODS INC BADIA SPICE CO BYRNE BROS FOODS INC *MCLANE EXPRESS INCORPORATED THE MASTERS DISTRIBUTION SYSTEMS *MCLANE EXPRESS INCORPORATED THE MASTERS DISTRIBUTION SYSTEMS *MCLANE EXPRESS INCORPORATED THE MASTERS DISTRIBUTION SYSTEMS *MCLANE EXPRESS INCORPORATED THE MASTERS DISTRIBUTION *MCLANE EXPRESS INCORPORATED THE MASTERS DISTRIBUTION	25 75 75 200 200 200 50 50 50 100 1500 1500	\$3.368 \$5.75 \$1.666 \$14.50 \$7.00 \$38.90 \$13.44 \$11.39	\$252.600 \$431.25 \$333.20 \$2,900.00 \$1,945.00 \$1,344.00 \$17,085.00 \$9,112.00
91 92 93 94	SPICE, PARSLEY, DRIED, 1 LB SPICE, PEPPER, RED CRUSHED, BULK SPICE, SALT, IODIZED, TABLE, 24/26 OZ/CS SPORTS DRINK, G2 GLACIER FREEZE, LOW CALORIE, NO MORE THAN 10 CAL PER 20 OZ BOTTLE SPORTS DRINK, G2 MIXED BERRY CLEAR, LOW CALORIE, NO MORE THAN 10 CAL PER 20 OZ BOTTLE SPORTS DRINK, G2 MIXED BERRY CLEAR, LOW CALORIE, NO MORE THAN 10 CAL PER 20 OZ BOTTLE SPORTS DRINK, G2 GRAPE, LOW CALORIE, NO MORE THAN 10 CAL PER 20 OZ BOTTLE	Y	9PS 9PS 9PS 9PS 4NS 9PS 4NS 4BV	CS CN CN EA EA EA CS CS CS CS CS CS CS CS CS	BYRNE BROS FOODS INC BADIA SPICE CO "MCLANE EXPRESS INCORPORATED BYRNE BROS FOODS INC BADIA SPICE CO "MCLANE EXPRESS INCORPORATED BYRNE BROS FOODS INC "MCLANE EXPRESS INCORPORATED BYRNE BROS FOODS INC BADIA SPICE CO BYRNE BROS FOODS INC "MCLANE EXPRESS INCORPORATED THE MASTERS DISTRIBUTION SYSTEMS	25 75 75 75 200 200 200 50 50 100 1500 800 800	\$3.368 \$5.75 \$1.666 \$14.50 \$7.00 \$38.90 \$13.44	\$252.600 \$431.25 \$333.20 \$2,900.00 \$1,945.00 \$1,344.00
91 92 93 94 95	SPICE, PARSLEY, DRIED, 1 LB SPICE, PEPPER, RED CRUSHED, BULK SPICE, SALT, IODIZED, TABLE, 24/26 OZ/CS SPORTS DRINK, G2 GLACIER FREEZE, LOW CALORIE, NO MORE THAN 10 CAL PER 20 OZ BOTTLE SPORTS DRINK, G2 MIXED BERRY CLEAR, LOW CALORIE, NO MORE THAN 10 CAL PER 20 OZ BOTTLE SPORTS DRINK, G2 GRAPE, LOW CALORIE, NO	Y	9PS 9PS 9PS 9PS 4NS 9PS 4NS 4BV	CS CN CN EA EA EA CS	BYRNE BROS FOODS INC BADIA SPICE CO *MCLANE EXPRESS INCORPORATED BYRNE BROS FOODS INC BADIA SPICE CO *MCLANE EXPRESS INCORPORATED BYRNE BROS FOODS INC *MCLANE EXPRESS INCORPORATED BYRNE BROS FOODS INC BADIA SPICE CO BYRNE BROS FOODS INC *MCLANE EXPRESS INCORPORATED THE MASTERS DISTRIBUTION SYSTEMS *MCLANE EXPRESS INCORPORATED THE MASTERS DISTRIBUTION SYSTEMS *MCLANE EXPRESS INCORPORATED THE MASTERS DISTRIBUTION SYSTEMS *MCLANE EXPRESS INCORPORATED THE MASTERS DISTRIBUTION *MCLANE EXPRESS INCORPORATED THE MASTERS DISTRIBUTION	25 75 75 75 200 200 200 50 50 100 1500 800 800	\$3.368 \$5.75 \$1.666 \$14.50 \$7.00 \$38.90 \$13.44 \$11.39	\$252.600 \$431.25 \$333.20 \$2,900.00 \$1,945.00 \$1,344.00 \$17,085.00 \$9,112.00

		Award	Reason					Extended
Line#	Item Description	(Y / N)	Code	UOM	Supplier	Qty	Price	Price
00	SPORTS DRINK, G2 LEMON-LIME, LOW CALORIE,		4116	cs	THE MASTERS DISTRIBUTION SYSTEMS	750	£44.20	¢0 540 50
98	NO MORE THAN 10 CAL PER 20 OZ BOTTLE		4NS	US.	SISIEMS	730	\$11.39	\$8,542.50
99	SAUCE, SIRACHA 6/17 OZ/CASE	Y Y	4BV		*MCLANE EXPRESS INCORPORATED BADIA SPICE CO	750 150	\$12.62	\$1,893.00
			9PS	CS	BYRNE BROS FOODS INC	150	\$17.01	\$2,551.50
100	SUGAR SUBSTITUTE, P.C., 1 GR, 2000/CS	Υ			KENS FOODS INC DIAMOND CRYSTAL BRANDS INC	150 20	\$30.37 \$10.35	\$4,555.50 \$207.00
				cs	BYRNE BROS FOODS INC	20	\$24.00	\$480.00
	SUGAR BROWN 25#	Υ			BYRNE BROS FOODS INC	100	\$25.25	\$2,525.00
102	SUGAR, GRANULATED, P.C., 2.8 GR., 2000/CS	Υ			BYRNE BROS FOODS INC DIAMOND CRYSTAL BRANDS INC	100 100	\$14.00 \$14.38	\$1,400.00 \$1,438.00
	SUGAR POWDERED 25#	Y			BYRNE BROS FOODS INC	200	\$30.36	\$6,072.00
104	SUGAR WHITE 25# SYRUP, PANCAKE & WAFFLE, MAPLE FLAVOR,	Υ		SK	BYRNE BROS FOODS INC	100	\$19.00	\$1,900.00
105	P.C., 1.5 OZ CUP PREFERRED, 100/1.5 OZ CUPS/CS OR SIMILAR	Y		CS	DIAMOND CRYSTAL BRANDS INC	4000	\$8.64	\$34,560.00
100	OK GIMILAK	"					ψ0.04	434,300.00
-				CS	*MCLANE EXPRESS INCORPORATED BRAUN BEEF CO INC	4000 4000	\$9.90	\$39,600.00
	TAGO OF A CONTROL MIN I OW CORN IN VARIETY NO			CS	BYRNE BROS FOODS INC	4000	\$15.00	\$60,000.00
	TACO SEASONING MIX, LOW SODIUM VARIETY, NO MORE THAN 270mg SODIUM PER SERVING, 6							
106	LB/CS	V	3TQ	EΑ	BADIA SPICE CO BYRNE BROS FOODS INC	200 200	\$3.00 \$15.85	\$600.00 \$3,170.00
		Y	4BV		*LASCO FOODS	200	φ15.65	\$3,170.00
	TACO SHELLS, CRISPY, 51% WHOLE GRAIN YELLOW CORN, 5 TO 6" LONG, PACKAGED IN							
	CLEAR WRAPPERS, BOXED TO PREVENT							
107	BREAKAGE, NO TRANS FAT	Υ			TYSON PREPARED FOODS INC BYRNE BROS FOODS INC	300 300	\$9.75 \$14.00	\$2,925.00 \$4,200.00
108	TEA BAGS, GOOD QUALITY, 48/1 OZ OR 96/1 OZ	Υ		Ce	BYRNE BROS FOODS INC	100	\$12.46	\$1,246.00
100	TOASTER PASTRIES, 51% WHOLE GRAIN,	ı		03	BIRNE BROST GODS INC	100	\$12.40	\$1,240.00
109	STRAWBERRY, SINGLE PACK ONLY, DOUBLE NOT ACCEPTED, NO SPRINKLES	Υ		cs	*MCLANE EXPRESS INCORPORATED	1000		
		·			BYRNE BROS FOODS INC	1000	\$45.60	\$45,600.00
110	TOMATOES, DICED, PACKED FROM FRESH TOMATOES ONLY, 6/#10 CANS/CS	Υ		cs	*CALFED FINANCIAL CORPORATION	200		
			9PS	CS	BYRNE BROS FOODS INC	200	\$21.25	\$4,250.00
				cs	CONAGRA FOODS INCORPORATED	200	\$23.79	\$4,758.00
111	TORTILLAS, CORN, SHELF STABLE, 300/CASE		3TQ	cs	BYRNE BROS FOODS INC	800	\$14.50	\$11,600.00
			3TQ	_	TYSON PREPARED FOODS INC	800	\$14.85	\$11,880.00
		Υ	4BV		*MCLANE EXPRESS INCORPORATED	800		
112	TORTILLA CHIPS, INDIVIDUAL BAGS, 80/CASE		9PS	CS	BYRNE BROS FOODS INC	1500	\$17.00	\$25,500.00
		Υ	4BV	cs	*MCLANE EXPRESS INCORPORATED	1500		
				cs	THE MASTERS DISTRIBUTION SYSTEMS	1500	\$23.50	\$35,250.00
	TORTILLA CHIPS, 51% WHOLE GRAIN CORN, UNSALTED, PRE-FRIED IN VEGETABLE OIL, NO							
113	TRANS FAT, 3/2# BAG/CS	Υ			BRAUN BEEF CO INC	8000	\$10.14	\$81,120.00
-			 	CS	BYRNE BROS FOODS INC	8000	\$13.02	\$104,160.00
<u> </u>				cs	*MCLANE EXPRESS INCORPORATED	8000		
L			9PS	cs	THE MASTERS DISTRIBUTION SYSTEMS	8000	\$19.75	\$158,000.00
114	VANILLA EXTRACT, QT.	Υ		QT	BADIA SPICE CO	400	\$2.805	\$1,122.00
			<u> </u>	QT	BYRNE BROS FOODS INC	400	\$48.00	\$19,200.00
115	VINEGAR, WHITE, 5% ACIDITY, GOOD QUALITY, 4/1 GAL/CS	Υ		cs	BYRNE BROS FOODS INC	1000	\$7.00	\$7,000.00
				CS	BRAUN BEEF CO INC	1000	\$7.22	\$7,220.00
			<u> </u>	cs	*MCLANE EXPRESS INCORPORATED	1000		
				CS	BADIA SPICE CO	1000	\$10.53	\$10,530.00

		Award	Reason					Extended
Line#	Item Description WATER, BOTTLED, FILTERED UNFLAVORED IN	(Y / N)	Code	UOM	Supplier	Qty	Price	Price
	PLASTIC SCREW TOP BOTTLES, TRUCKLOAD							
	ORDERS, 24/16.9 OZ/CS, NESTLE PURE LIFE,							
	OZARKA, OR OTHER NATIONAL BRAND							
116	PERFERRED	Υ		cs	NESTLE WATERS NORTH AMERICA	15000	\$2.95	\$44,250.00
				cs	*MCLANE EXPRESS INCORPORATED	15000		
	WATER, FLAVORED, NON-CARBONATED, BERRY			CS	MICLANE EXPRESS INCORPORATED	13000		
	FLAVOR, NO MORE THAN 5 CAL/8 OZ, PROPEL OR							
117	SIMILAR	Υ		cs	*MCLANE EXPRESS INCORPORATED	100		
	WATER, FLAVORED, NON-CARBONATED, LEMON							
110	FLAVOR, NO MORE THAN 5 CAL/8 OZ, PROPEL OR SIMILAR	Υ		Ce	*MCLANE EXPRESS INCORPORATED	100		
110	SIMILAR	'		03	MICEANE EXPRESS INCORPORATED	100		
	APPLE CRISPS, DRIED, NATURAL STRAWBERRY							
	FLAVOR ADDED, NO ALLERGENS, 0.34 OZ							
119	PACKAGES, 125/0.34oz/CS	Υ		CS		750	NB	NB
120	WATER, PROPEL, WATERMELON FLAVOR, 24/CASE	Υ		CS	*MCLANE EXPRESS INCORPORATED	200		
120	24/0402	'		00	THE MASTERS DISTRIBUTION	200		
				cs	SYSTEMS	200	\$15.99	\$3,198.00
121	CEREAL, 25% LESS SUGAR COCOA CORN PUFFS, 20z BOWL PACK, 60/20z.	Υ		cs	*GENERAL MILLS SALES INC	250		
121	202 BOWL FACK, 00/202.	'		CO	GENERAL MILES SALES INC	230		
				cs	*MCLANE EXPRESS INCORPORATED	250		
122	CEREAL, SWEETENED, MARSHMALLOW FLAVOR, 2oz. BOWL PACKED, 60/2oz.	Υ		Ce	*GENERAL MILLS SALES INC	250		
122	202. BOWL FACKED, 60/202.	ı		US	GENERAL WILLS SALES INC	230		
				cs	*MCLANE EXPRESS INCORPORATED	250		
	HAPPY BIRTHDAY COOKIE, IW, 160/CASE	Υ			*NATIONAL FOOD GROUP INC	1600		
124	SAUCE, TERIYAKI STIR FRY FLAVOR.		9PS	CS	DIAMOND CRYSTAL BRANDS INC	300	\$26.61	\$7,983.00
		Υ	4BV	cs	BYRNE BROS FOODS INC	300	\$35.95	\$10,785.00
			9PS	CS	*SCHWANS FOOD SERVICE	300		
			9PS				4	4
	CALICE KODEAN DDO SHELESTADLE 6/E		9PS	CS CS	*SCHWANS FOOD SERVICE CONAGRA FOODS INCORPORATED	300	\$40.52	\$12,156.00
125	SAUCE, KOREAN BBQ, SHELF STABLE, 6/.5	NA	9PS	cs	CONAGRA FOODS INCORPORATED	300		
125	SAUCE, KOREAN BBQ, SHELF STABLE, 6/.5 GALLON/CS	NA	9PS	cs			\$40.52 \$25.65 \$34.01	\$12,156.00 \$23,085.00 \$30,609.00
125	GALLON/CS BEANS, BAKED VEGETARIAN. NAVY BEANS IN A	NA	9PS	cs	CONAGRA FOODS INCORPORATED BYRNE BROS FOODS INC	300 900	\$25.65	\$23,085.00
	GALLON/CS BEANS, BAKED VEGETARIAN. NAVY BEANS IN A TANGY SAUCE WITH BROWN SUGAR AND SPICES.	NA		CS CS	CONAGRA FOODS INCORPORATED BYRNE BROS FOODS INC KENS FOODS INC	300 900 900	\$25.65 \$34.01	\$23,085.00 \$30,609.00
	GALLON/CS BEANS, BAKED VEGETARIAN. NAVY BEANS IN A	NA	9PS 9PS	cs	CONAGRA FOODS INCORPORATED BYRNE BROS FOODS INC	300 900	\$25.65	\$23,085.00
	GALLON/CS BEANS, BAKED VEGETARIAN. NAVY BEANS IN A TANGY SAUCE WITH BROWN SUGAR AND SPICES.	NA	9PS	cs cs cs	CONAGRA FOODS INCORPORATED BYRNE BROS FOODS INC KENS FOODS INC BYRNE BROS FOODS INC	300 900 900 500	\$25.65 \$34.01	\$23,085.00 \$30,609.00
	GALLON/CS BEANS, BAKED VEGETARIAN. NAVY BEANS IN A TANGY SAUCE WITH BROWN SUGAR AND SPICES.	NA Y		CS CS CS	CONAGRA FOODS INCORPORATED BYRNE BROS FOODS INC KENS FOODS INC	300 900 900	\$25.65 \$34.01	\$23,085.00 \$30,609.00
	GALLON/CS BEANS, BAKED VEGETARIAN. NAVY BEANS IN A TANGY SAUCE WITH BROWN SUGAR AND SPICES. 6/#10/CASE SWEET POTATOES, POTATO PEARLS MASHED.		9PS 3TQ	CS CS CS	CONAGRA FOODS INCORPORATED BYRNE BROS FOODS INC KENS FOODS INC BYRNE BROS FOODS INC *CHURCHFIELD TRADING COMPANY *BUSH BROTHERS & COMPANY	300 900 900 500	\$25.65 \$34.01	\$23,085.00 \$30,609.00
126	GALLON/CS BEANS, BAKED VEGETARIAN. NAVY BEANS IN A TANGY SAUCE WITH BROWN SUGAR AND SPICES. 6/#10/CASE SWEET POTATOES, POTATO PEARLS MASHED. BASIC AMERICAN #10861 OR EQUAL. 10/26.7		9PS 3TQ 4BV	CS CS CS CS	CONAGRA FOODS INCORPORATED BYRNE BROS FOODS INC KENS FOODS INC BYRNE BROS FOODS INC *CHURCHFIELD TRADING COMPANY *BUSH BROTHERS & COMPANY SCHREIBER FOODS INTERNATIONAL	300 900 900 500 500	\$25.65 \$34.01 \$20.20	\$23,085.00 \$30,609.00 \$10,100.00
126	GALLON/CS BEANS, BAKED VEGETARIAN. NAVY BEANS IN A TANGY SAUCE WITH BROWN SUGAR AND SPICES. 6/#10/CASE SWEET POTATOES, POTATO PEARLS MASHED.		9PS 3TQ	CS CS CS CS	CONAGRA FOODS INCORPORATED BYRNE BROS FOODS INC KENS FOODS INC BYRNE BROS FOODS INC *CHURCHFIELD TRADING COMPANY *BUSH BROTHERS & COMPANY	300 900 900 500	\$25.65 \$34.01	\$23,085.00 \$30,609.00
126	GALLON/CS BEANS, BAKED VEGETARIAN. NAVY BEANS IN A TANGY SAUCE WITH BROWN SUGAR AND SPICES. 6/#10/CASE SWEET POTATOES, POTATO PEARLS MASHED. BASIC AMERICAN #10861 OR EQUAL. 10/26.7		9PS 3TQ 4BV	CS CS CS CS	CONAGRA FOODS INCORPORATED BYRNE BROS FOODS INC KENS FOODS INC BYRNE BROS FOODS INC *CHURCHFIELD TRADING COMPANY *BUSH BROTHERS & COMPANY SCHREIBER FOODS INTERNATIONAL	300 900 900 500 500	\$25.65 \$34.01 \$20.20	\$23,085.00 \$30,609.00 \$10,100.00
126	GALLON/CS BEANS, BAKED VEGETARIAN. NAVY BEANS IN A TANGY SAUCE WITH BROWN SUGAR AND SPICES. 6/#10/CASE SWEET POTATOES, POTATO PEARLS MASHED. BASIC AMERICAN #10861 OR EQUAL. 10/26.7		9PS 3TQ 4BV	CS CS CS CS CS	CONAGRA FOODS INCORPORATED BYRNE BROS FOODS INC KENS FOODS INC BYRNE BROS FOODS INC *CHURCHFIELD TRADING COMPANY *BUSH BROTHERS & COMPANY SCHREIBER FOODS INTERNATIONAL	300 900 900 500 500	\$25.65 \$34.01 \$20.20	\$23,085.00 \$30,609.00 \$10,100.00
126	GALLON/CS BEANS, BAKED VEGETARIAN. NAVY BEANS IN A TANGY SAUCE WITH BROWN SUGAR AND SPICES. 6/#10/CASE SWEET POTATOES, POTATO PEARLS MASHED. BASIC AMERICAN #10861 OR EQUAL. 10/26.7	Y	9PS 3TQ 4BV	CS CS CS CS CS	CONAGRA FOODS INCORPORATED BYRNE BROS FOODS INC KENS FOODS INC BYRNE BROS FOODS INC "CHURCHFIELD TRADING COMPANY" BUSH BROTHERS & COMPANY SCHREIBER FOODS INTERNATIONAL INC	300 900 900 500 500 500	\$25.65 \$34.01 \$20.20 \$22.50	\$23,085.00 \$30,609.00 \$10,100.00 \$6,750.00
126	GALLON/CS BEANS, BAKED VEGETARIAN. NAVY BEANS IN A TANGY SAUCE WITH BROWN SUGAR AND SPICES. 6/#10/CASE SWEET POTATOES, POTATO PEARLS MASHED. BASIC AMERICAN #10861 OR EQUAL. 10/26.7 POUCHES/CASE.	Y	9PS 3TQ 4BV	CS CS CS CS CS	CONAGRA FOODS INCORPORATED BYRNE BROS FOODS INC KENS FOODS INC BYRNE BROS FOODS INC "CHURCHFIELD TRADING COMPANY "BUSH BROTHERS & COMPANY SCHREIBER FOODS INTERNATIONAL INC BASIC AMERICAN INC	300 900 900 500 500 500 300	\$25.65 \$34.01 \$20.20 \$22.50	\$23,085.00 \$30,609.00 \$10,100.00 \$6,750.00
126	GALLON/CS BEANS, BAKED VEGETARIAN. NAVY BEANS IN A TANGY SAUCE WITH BROWN SUGAR AND SPICES. 6/#10/CASE SWEET POTATOES, POTATO PEARLS MASHED. BASIC AMERICAN #10861 OR EQUAL. 10/26.7 POUCHES/CASE. SOUP BASE, VEGETABLE. NO ADDED MSG. JUST	Y	9PS 3TQ 4BV 4NS	CS CS CS CS CS CS	CONAGRA FOODS INCORPORATED BYRNE BROS FOODS INC KENS FOODS INC BYRNE BROS FOODS INC *CHURCHFIELD TRADING COMPANY *BUSH BROTHERS & COMPANY SCHREIBER FOODS INTERNATIONAL INC BASIC AMERICAN INC BYRNE BROS FOODS INC	300 900 900 500 500 500 300 300	\$25.65 \$34.01 \$20.20 \$22.50	\$23,085.00 \$30,609.00 \$10,100.00 \$6,750.00
126	GALLON/CS BEANS, BAKED VEGETARIAN. NAVY BEANS IN A TANGY SAUCE WITH BROWN SUGAR AND SPICES. 6/#10/CASE SWEET POTATOES, POTATO PEARLS MASHED. BASIC AMERICAN #10861 OR EQUAL. 10/26.7 POUCHES/CASE.	Y	9PS 3TQ 4BV	CS CS CS CS CS	CONAGRA FOODS INCORPORATED BYRNE BROS FOODS INC KENS FOODS INC BYRNE BROS FOODS INC "CHURCHFIELD TRADING COMPANY "BUSH BROTHERS & COMPANY SCHREIBER FOODS INTERNATIONAL INC BASIC AMERICAN INC	300 900 900 500 500 500 300	\$25.65 \$34.01 \$20.20 \$22.50	\$23,085.00 \$30,609.00 \$10,100.00 \$6,750.00
126	GALLON/CS BEANS, BAKED VEGETARIAN. NAVY BEANS IN A TANGY SAUCE WITH BROWN SUGAR AND SPICES. 6/#10/CASE SWEET POTATOES, POTATO PEARLS MASHED. BASIC AMERICAN #10861 OR EQUAL. 10/26.7 POUCHES/CASE. SOUP BASE, VEGETABLE. NO ADDED MSG. JUST	Y	9PS 3TQ 4BV 4NS 4BV 9PS	CS	CONAGRA FOODS INCORPORATED BYRNE BROS FOODS INC KENS FOODS INC BYRNE BROS FOODS INC *CHURCHFIELD TRADING COMPANY *BUSH BROTHERS & COMPANY SCHREIBER FOODS INTERNATIONAL INC BASIC AMERICAN INC BYRNE BROS FOODS INC	300 900 900 500 500 500 300 300	\$25.65 \$34.01 \$20.20 \$22.50	\$23,085.00 \$30,609.00 \$10,100.00 \$6,750.00 \$12,549.00 \$13,170.00
126	GALLON/CS BEANS, BAKED VEGETARIAN. NAVY BEANS IN A TANGY SAUCE WITH BROWN SUGAR AND SPICES. 6/#10/CASE SWEET POTATOES, POTATO PEARLS MASHED. BASIC AMERICAN #10861 OR EQUAL. 10/26.7 POUCHES/CASE. SOUP BASE, VEGETABLE. NO ADDED MSG. JUST	Y	9PS 3TQ 4BV 4NS	CS	CONAGRA FOODS INCORPORATED BYRNE BROS FOODS INC KENS FOODS INC BYRNE BROS FOODS INC *CHURCHFIELD TRADING COMPANY *BUSH BROTHERS & COMPANY SCHREIBER FOODS INTERNATIONAL INC BASIC AMERICAN INC BYRNE BROS FOODS INC *MCLANE EXPRESS INCORPORATED	300 900 900 500 500 500 300 300	\$25.65 \$34.01 \$20.20 \$22.50 \$41.83 \$43.90	\$23,085.00 \$30,609.00 \$10,100.00 \$6,750.00
126	GALLON/CS BEANS, BAKED VEGETARIAN. NAVY BEANS IN A TANGY SAUCE WITH BROWN SUGAR AND SPICES. 6/#10/CASE SWEET POTATOES, POTATO PEARLS MASHED. BASIC AMERICAN #10861 OR EQUAL. 10/26.7 POUCHES/CASE. SOUP BASE, VEGETABLE. NO ADDED MSG. JUST ADD WATER. ALMOND MILK, UNSWEETENED, SHELF STABLE. MUST BE DAIRY, SOY, GLUTEN AND EGG FREE.	Y	9PS 3TQ 4BV 4NS 4BV 9PS	CS	CONAGRA FOODS INCORPORATED BYRNE BROS FOODS INC KENS FOODS INC "CHURCHFIELD TRADING COMPANY "BUSH BROTHERS & COMPANY SCHREIBER FOODS INTERNATIONAL INC BASIC AMERICAN INC BYRNE BROS FOODS INC "MCLANE EXPRESS INCORPORATED CUSTOM CULINARY INCORPORATED	300 900 900 500 500 300 300 300 150	\$25.65 \$34.01 \$20.20 \$22.50 \$41.83 \$43.90 \$33.31	\$23,085.00 \$30,609.00 \$10,100.00 \$6,750.00 \$12,549.00 \$13,170.00
126	GALLON/CS BEANS, BAKED VEGETARIAN. NAVY BEANS IN A TANGY SAUCE WITH BROWN SUGAR AND SPICES. 6/#10/CASE SWEET POTATOES, POTATO PEARLS MASHED. BASIC AMERICAN #10861 OR EQUAL. 10/26.7 POUCHES/CASE. SOUP BASE, VEGETABLE. NO ADDED MSG. JUST ADD WATER. ALMOND MILK, UNSWEETENED, SHELF STABLE.	Y	9PS 3TQ 4BV 4NS 4BV 9PS	CS	CONAGRA FOODS INCORPORATED BYRNE BROS FOODS INC KENS FOODS INC BYRNE BROS FOODS INC *CHURCHFIELD TRADING COMPANY *BUSH BROTHERS & COMPANY SCHREIBER FOODS INTERNATIONAL INC BASIC AMERICAN INC BYRNE BROS FOODS INC *MCLANE EXPRESS INCORPORATED	300 900 900 500 500 500 300 300	\$25.65 \$34.01 \$20.20 \$22.50 \$41.83 \$43.90	\$23,085.00 \$30,609.00 \$10,100.00 \$6,750.00 \$12,549.00 \$13,170.00
126	GALLON/CS BEANS, BAKED VEGETARIAN. NAVY BEANS IN A TANGY SAUCE WITH BROWN SUGAR AND SPICES. 6/#10/CASE SWEET POTATOES, POTATO PEARLS MASHED. BASIC AMERICAN #10861 OR EQUAL. 10/26.7 POUCHES/CASE. SOUP BASE, VEGETABLE. NO ADDED MSG. JUST ADD WATER. ALMOND MILK, UNSWEETENED, SHELF STABLE. MUST BE DAIRY, SOY, GLUTEN AND EGG FREE.	Y	9PS 3TQ 4BV 4NS 4BV 9PS	CS	CONAGRA FOODS INCORPORATED BYRNE BROS FOODS INC KENS FOODS INC "CHURCHFIELD TRADING COMPANY "BUSH BROTHERS & COMPANY SCHREIBER FOODS INTERNATIONAL INC BASIC AMERICAN INC BYRNE BROS FOODS INC "MCLANE EXPRESS INCORPORATED CUSTOM CULINARY INCORPORATED	300 900 900 500 500 300 300 300 150	\$25.65 \$34.01 \$20.20 \$22.50 \$41.83 \$43.90 \$33.31	\$23,085.00 \$30,609.00 \$10,100.00 \$6,750.00 \$12,549.00 \$13,170.00
126	GALLON/CS BEANS, BAKED VEGETARIAN. NAVY BEANS IN A TANGY SAUCE WITH BROWN SUGAR AND SPICES. 6/#10/CASE SWEET POTATOES, POTATO PEARLS MASHED. BASIC AMERICAN #10861 OR EQUAL. 10/26.7 POUCHES/CASE. SOUP BASE, VEGETABLE. NO ADDED MSG. JUST ADD WATER. ALMOND MILK, UNSWEETENED, SHELF STABLE. MUST BE DAIRY, SOY, GLUTEN AND EGG FREE. 6/8oz./CASE	Y	9PS 3TQ 4BV 4NS 4BV 9PS	CS	CONAGRA FOODS INCORPORATED BYRNE BROS FOODS INC KENS FOODS INC BYRNE BROS FOODS INC *CHURCHFIELD TRADING COMPANY *BUSH BROTHERS & COMPANY SCHREIBER FOODS INTERNATIONAL INC BASIC AMERICAN INC BYRNE BROS FOODS INC *MCLANE EXPRESS INCORPORATED CUSTOM CULINARY INCORPORATED BYRNE BROS FOODS INC	300 900 900 500 500 500 300 300 150 100	\$25.65 \$34.01 \$20.20 \$22.50 \$41.83 \$43.90 \$33.31	\$23,085.00 \$30,609.00 \$10,100.00 \$6,750.00 \$12,549.00 \$13,170.00
126	GALLON/CS BEANS, BAKED VEGETARIAN. NAVY BEANS IN A TANGY SAUCE WITH BROWN SUGAR AND SPICES. 6/#10/CASE SWEET POTATOES, POTATO PEARLS MASHED. BASIC AMERICAN #10861 OR EQUAL. 10/26.7 POUCHES/CASE. SOUP BASE, VEGETABLE. NO ADDED MSG. JUST ADD WATER. ALMOND MILK, UNSWEETENED, SHELF STABLE. MUST BE DAIRY, SOY, GLUTEN AND EGG FREE. 6/8oz./CASE CORNSTARCH, 24/16oz./CASE	Y	9PS 3TQ 4BV 4NS 4BV 9PS	CS C	CONAGRA FOODS INCORPORATED BYRNE BROS FOODS INC KENS FOODS INC "CHURCHFIELD TRADING COMPANY "BUSH BROTHERS & COMPANY SCHREIBER FOODS INTERNATIONAL INC BASIC AMERICAN INC BYRNE BROS FOODS INC "MCLANE EXPRESS INCORPORATED CUSTOM CULINARY INCORPORATED	300 900 900 500 500 300 300 300 150	\$25.65 \$34.01 \$20.20 \$22.50 \$41.83 \$43.90 \$33.31	\$23,085.00 \$30,609.00 \$10,100.00 \$6,750.00 \$12,549.00 \$13,170.00
126 127 128 129 130	GALLON/CS BEANS, BAKED VEGETARIAN. NAVY BEANS IN A TANGY SAUCE WITH BROWN SUGAR AND SPICES. 6/#10/CASE SWEET POTATOES, POTATO PEARLS MASHED. BASIC AMERICAN #10861 OR EQUAL. 10/26.7 POUCHES/CASE. SOUP BASE, VEGETABLE. NO ADDED MSG. JUST ADD WATER. ALMOND MILK, UNSWEETENED, SHELF STABLE. MUST BE DAIRY, SOY, GLUTEN AND EGG FREE. 6/8oz./CASE CORNSTARCH, 24/16oz./CASE SRIRACHA HOT CHILI SAUCE. 500/7g	Y Y Y Y	9PS 3TQ 4BV 4NS 4BV 9PS	CS	CONAGRA FOODS INCORPORATED BYRNE BROS FOODS INC KENS FOODS INC BYRNE BROS FOODS INC *CHURCHFIELD TRADING COMPANY *BUSH BROTHERS & COMPANY SCHREIBER FOODS INTERNATIONAL INC BASIC AMERICAN INC BYRNE BROS FOODS INC *MCLANE EXPRESS INCORPORATED BYRNE BROS FOODS INC *MCLANE EXPRESS INCORPORATED BYRNE BROS FOODS INC *MCLANE EXPRESS INCORPORATED BYRNE BROS FOODS INC	300 900 900 500 500 500 300 300 300 150 150 100 50	\$25.65 \$34.01 \$20.20 \$22.50 \$41.83 \$43.90 \$33.31	\$23,085.00 \$30,609.00 \$10,100.00 \$6,750.00 \$12,549.00 \$13,170.00 \$4,996.50 \$2,424.00
126	GALLON/CS BEANS, BAKED VEGETARIAN. NAVY BEANS IN A TANGY SAUCE WITH BROWN SUGAR AND SPICES. 6/#10/CASE SWEET POTATOES, POTATO PEARLS MASHED. BASIC AMERICAN #10861 OR EQUAL. 10/26.7 POUCHES/CASE. SOUP BASE, VEGETABLE. NO ADDED MSG. JUST ADD WATER. ALMOND MILK, UNSWEETENED, SHELF STABLE. MUST BE DAIRY, SOY, GLUTEN AND EGG FREE. 6/8oz./CASE CORNSTARCH, 24/16oz./CASE	Y	9PS 3TQ 4BV 4NS 4BV 9PS	CS C	CONAGRA FOODS INCORPORATED BYRNE BROS FOODS INC KENS FOODS INC BYRNE BROS FOODS INC "CHURCHFIELD TRADING COMPANY "BUSH BROTHERS & COMPANY SCHREIBER FOODS INTERNATIONAL INC BASIC AMERICAN INC BYRNE BROS FOODS INC "MCLANE EXPRESS INCORPORATED BYRNE BROS FOODS INC "MCLANE EXPRESS INCORPORATED BYRNE BROS FOODS INC "MCLANE EXPRESS INCORPORATED BYRNE BROS FOODS INC "CALFED FINANCIAL CORPORATION	300 900 900 500 500 500 300 300 300 150 100 50	\$25.65 \$34.01 \$20.20 \$22.50 \$41.83 \$43.90 \$33.31	\$23,085.00 \$30,609.00 \$10,100.00 \$6,750.00 \$12,549.00 \$13,170.00 \$4,996.50 \$2,424.00
126 127 128 129	GALLON/CS BEANS, BAKED VEGETARIAN. NAVY BEANS IN A TANGY SAUCE WITH BROWN SUGAR AND SPICES. 6/#10/CASE SWEET POTATOES, POTATO PEARLS MASHED. BASIC AMERICAN #10861 OR EQUAL. 10/26.7 POUCHES/CASE. SOUP BASE, VEGETABLE. NO ADDED MSG. JUST ADD WATER. ALMOND MILK, UNSWEETENED, SHELF STABLE. MUST BE DAIRY, SOY, GLUTEN AND EGG FREE. 6/8oz./CASE CORNSTARCH, 24/16oz./CASE SRIRACHA HOT CHILI SAUCE. 500/7g	Y Y Y Y	9PS 3TQ 4BV 4NS 4BV	CS C	CONAGRA FOODS INCORPORATED BYRNE BROS FOODS INC KENS FOODS INC *CHURCHFIELD TRADING COMPANY *BUSH BROTHERS & COMPANY SCHREIBER FOODS INTERNATIONAL INC BASIC AMERICAN INC BYRNE BROS FOODS INC *MCLANE EXPRESS INCORPORATED BYRNE BROS FOODS INC *MCLANE EXPRESS INCORPORATED BYRNE BROS FOODS INC *MCLANE EXPRESS INCORPORATED BYRNE BROS FOODS INC *CALFED FINANCIAL CORPORATION SCHREIBER FOODS INTERNATIONAL	300 900 900 500 500 300 300 300 150 150 100 50 50 50	\$25.65 \$34.01 \$20.20 \$22.50 \$41.83 \$43.90 \$33.31 \$24.24	\$23,085.00 \$30,609.00 \$10,100.00 \$6,750.00 \$12,549.00 \$13,170.00 \$4,996.50 \$2,424.00
126 127 128 129	GALLON/CS BEANS, BAKED VEGETARIAN. NAVY BEANS IN A TANGY SAUCE WITH BROWN SUGAR AND SPICES. 6/#10/CASE SWEET POTATOES, POTATO PEARLS MASHED. BASIC AMERICAN #10861 OR EQUAL. 10/26.7 POUCHES/CASE. SOUP BASE, VEGETABLE. NO ADDED MSG. JUST ADD WATER. ALMOND MILK, UNSWEETENED, SHELF STABLE. MUST BE DAIRY, SOY, GLUTEN AND EGG FREE. 6/8oz./CASE CORNSTARCH, 24/16oz./CASE SRIRACHA HOT CHILI SAUCE. 500/7g	Y Y Y Y	9PS 3TQ 4BV 4NS 4BV	CS	CONAGRA FOODS INCORPORATED BYRNE BROS FOODS INC KENS FOODS INC BYRNE BROS FOODS INC "CHURCHFIELD TRADING COMPANY "BUSH BROTHERS & COMPANY SCHREIBER FOODS INTERNATIONAL INC BASIC AMERICAN INC BYRNE BROS FOODS INC "MCLANE EXPRESS INCORPORATED BYRNE BROS FOODS INC "MCLANE EXPRESS INCORPORATED BYRNE BROS FOODS INC "MCLANE EXPRESS INCORPORATED BYRNE BROS FOODS INC "CALFED FINANCIAL CORPORATION	300 900 900 500 500 500 300 300 300 150 150 100 50	\$25.65 \$34.01 \$20.20 \$22.50 \$41.83 \$43.90 \$33.31	\$23,085.00 \$30,609.00 \$10,100.00 \$6,750.00 \$12,549.00 \$13,170.00 \$4,996.50 \$2,424.00
126 127 128 129	GALLON/CS BEANS, BAKED VEGETARIAN. NAVY BEANS IN A TANGY SAUCE WITH BROWN SUGAR AND SPICES. 6/#10/CASE SWEET POTATOES, POTATO PEARLS MASHED. BASIC AMERICAN #10861 OR EQUAL. 10/26.7 POUCHES/CASE. SOUP BASE, VEGETABLE. NO ADDED MSG. JUST ADD WATER. ALMOND MILK, UNSWEETENED, SHELF STABLE. MUST BE DAIRY, SOY, GLUTEN AND EGG FREE. 6/8oz./CASE CORNSTARCH, 24/16oz./CASE SRIRACHA HOT CHILI SAUCE. 500/7g	Y Y Y Y	9PS 3TQ 4BV 4NS 4BV	CS C	CONAGRA FOODS INCORPORATED BYRNE BROS FOODS INC KENS FOODS INC *CHURCHFIELD TRADING COMPANY *BUSH BROTHERS & COMPANY SCHREIBER FOODS INTERNATIONAL INC BASIC AMERICAN INC BYRNE BROS FOODS INC *MCLANE EXPRESS INCORPORATED BYRNE BROS FOODS INC *MCLANE EXPRESS INCORPORATED BYRNE BROS FOODS INC *MCLANE EXPRESS INCORPORATED BYRNE BROS FOODS INC *CALFED FINANCIAL CORPORATION SCHREIBER FOODS INTERNATIONAL	300 900 900 500 500 300 300 300 150 150 100 50 50 50	\$25.65 \$34.01 \$20.20 \$22.50 \$41.83 \$43.90 \$33.31 \$24.24	\$23,085.00 \$30,609.00 \$10,100.00 \$6,750.00 \$12,549.00 \$13,170.00 \$4,996.50 \$2,424.00
126 127 128 129	GALLON/CS BEANS, BAKED VEGETARIAN. NAVY BEANS IN A TANGY SAUCE WITH BROWN SUGAR AND SPICES. 6/#10/CASE SWEET POTATOES, POTATO PEARLS MASHED. BASIC AMERICAN #10861 OR EQUAL. 10/26.7 POUCHES/CASE. SOUP BASE, VEGETABLE. NO ADDED MSG. JUST ADD WATER. ALMOND MILK, UNSWEETENED, SHELF STABLE. MUST BE DAIRY, SOY, GLUTEN AND EGG FREE. 6/80z./CASE CORNSTARCH, 24/160z./CASE SRIRACHA HOT CHILI SAUCE. 500/7g PACKETS/CASE.	Y Y Y Y	9PS 3TQ 4BV 4NS 4BV	CS C	CONAGRA FOODS INCORPORATED BYRNE BROS FOODS INC KENS FOODS INC *CHURCHFIELD TRADING COMPANY *BUSH BROTHERS & COMPANY SCHREIBER FOODS INTERNATIONAL INC BASIC AMERICAN INC BYRNE BROS FOODS INC *MCLANE EXPRESS INCORPORATED BYRNE BROS FOODS INC *MCLANE EXPRESS INCORPORATED BYRNE BROS FOODS INC *MCLANE EXPRESS INCORPORATED BYRNE BROS FOODS INC *CALFED FINANCIAL CORPORATION SCHREIBER FOODS INTERNATIONAL	300 900 900 500 500 300 300 300 150 150 100 50 50 50	\$25.65 \$34.01 \$20.20 \$22.50 \$41.83 \$43.90 \$33.31 \$24.24	\$23,085.00 \$30,609.00 \$10,100.00 \$6,750.00 \$12,549.00 \$13,170.00 \$4,996.50 \$2,424.00
126 127 128 129 130	GALLON/CS BEANS, BAKED VEGETARIAN. NAVY BEANS IN A TANGY SAUCE WITH BROWN SUGAR AND SPICES. 6/#10/CASE SWEET POTATOES, POTATO PEARLS MASHED. BASIC AMERICAN #10861 OR EQUAL. 10/26.7 POUCHES/CASE. SOUP BASE, VEGETABLE. NO ADDED MSG. JUST ADD WATER. ALMOND MILK, UNSWEETENED, SHELF STABLE. MUST BE DAIRY, SOY, GLUTEN AND EGG FREE. 6/8oz./CASE CORNSTARCH, 24/16oz./CASE SRIRACHA HOT CHILI SAUCE. 500/7g PACKETS/CASE.	Y Y Y Y	9PS 3TQ 4BV 4NS 4BV	CS C	CONAGRA FOODS INCORPORATED BYRNE BROS FOODS INC KENS FOODS INC *CHURCHFIELD TRADING COMPANY *BUSH BROTHERS & COMPANY SCHREIBER FOODS INTERNATIONAL INC BASIC AMERICAN INC BYRNE BROS FOODS INC *MCLANE EXPRESS INCORPORATED BYRNE BROS FOODS INC *MCLANE EXPRESS INCORPORATED BYRNE BROS FOODS INC *MCLANE EXPRESS INCORPORATED BYRNE BROS FOODS INC *CALFED FINANCIAL CORPORATION SCHREIBER FOODS INTERNATIONAL	300 900 900 500 500 300 300 300 150 150 100 50 200	\$25.65 \$34.01 \$20.20 \$22.50 \$41.83 \$43.90 \$33.31 \$24.24 \$20.45	\$23,085.00 \$30,609.00 \$10,100.00 \$10,100.00 \$6,750.00 \$12,549.00 \$13,170.00 \$4,996.50 \$2,424.00 \$1,022.50
126 127 128 129 130	GALLON/CS BEANS, BAKED VEGETARIAN. NAVY BEANS IN A TANGY SAUCE WITH BROWN SUGAR AND SPICES. 6/#10/CASE SWEET POTATOES, POTATO PEARLS MASHED. BASIC AMERICAN #10861 OR EQUAL. 10/26.7 POUCHES/CASE. SOUP BASE, VEGETABLE. NO ADDED MSG. JUST ADD WATER. ALMOND MILK, UNSWEETENED, SHELF STABLE. MUST BE DAIRY, SOY, GLUTEN AND EGG FREE. 6/8oz./CASE CORNSTARCH, 24/16oz./CASE SRIRACHA HOT CHILI SAUCE. 500/7g PACKETS/CASE.	Y Y Y Y	9PS 3TQ 4BV 4NS 4BV	CS C	CONAGRA FOODS INCORPORATED BYRNE BROS FOODS INC KENS FOODS INC *CHURCHFIELD TRADING COMPANY *BUSH BROTHERS & COMPANY SCHREIBER FOODS INTERNATIONAL INC BASIC AMERICAN INC BYRNE BROS FOODS INC *MCLANE EXPRESS INCORPORATED BYRNE BROS FOODS INC *MCLANE EXPRESS INCORPORATED BYRNE BROS FOODS INC *MCLANE EXPRESS INCORPORATED BYRNE BROS FOODS INC *CALFED FINANCIAL CORPORATION SCHREIBER FOODS INTERNATIONAL	300 900 900 500 500 300 300 300 150 150 100 50 200	\$25.65 \$34.01 \$20.20 \$22.50 \$41.83 \$43.90 \$33.31 \$24.24 \$20.45	\$23,085.00 \$30,609.00 \$10,100.00 \$10,100.00 \$6,750.00 \$12,549.00 \$13,170.00 \$4,996.50 \$2,424.00 \$1,022.50